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ª {Ln(ŝB(Y )n, Xn)|Y = y} = min
ŝ
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bj(yn) = p(xn = j, yn)

cij = p(xn−1 = i, xn = j)

fi,j(yn−1, yn) = p(yn−1:n|xn−1 = i, xn = j)
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ψ
[q]
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fi,j(l,m) = 1

aÙ� X]\CX �"c
Z[��1���
�	�9:�����%���
������*E�ì��&<*\&
��	����
	��8��./������./&
	��¦�31�&<9/���2�PB

L = Q(φ|φ[q]) − λ1(
∑

(i,j)∈X 2

cij − 1)
aÙ� X]\CX �"c

−
∑

(j,m)∈X×Y
λj,m(

∑

i,l∈X×Y
cijfi,j(l,m) − bj(m)) − λ3(

∫

(l,m)∈Y2

fi,j(l,m) − 1)

\ �



�,�M
�=��3&<9/���3&
����
�	
L

������®aÙ� X]\CX �"cb57��������5�5T���3��~

cij
	������ ������1��8���3&
����
�16��=��31��<�����'������
�1�&<��~WB

cij =

∑N
n=2 ψ

[q]
n−1(i, j)

λ1 +
∑

l,m∈Y2 λj,mfi,j(l,m)

aÙ� X]\CX3{ c

Gx���[��&<�<�
	�1�������
 � ��5���)����8�\5���	�*\&
)���	������2�3����&<����	/�

∑

(i,j)∈X 2

cij = 1 =
∑

(i,j)∈X 2

∑N
n=2 ψ

[q]
n−1(i, j)

λ1 +
∑

l,m∈Y2 λj,mfi,j(l,m)
=

N − 1

λ1 +
∑

l,m∈Y2 λj,mfi,j(l,m)

Z'��1��S	���
�=�
�1�&
�������
c
[q+1]
ij

X �M� ��1��3��	[57���3�����8�!
�=��3&<9/���3&
���W
�	
L
57���S����5�5T���3��~

fi,j(l,m)
	��b��� �����21�©

�8���3&
��� 
�1W��=��31��<�����%������
�1�&<�¸~�B

fi,j(l,m) =

∑N
n=2:(yn−1,yn)=(l,m) ψ

[q]
n−1(i, j)

λ3

aÙ� X]\CX]| c
Gx���[��&<�<�
	�1������

∑

(l,m)∈Y2

fi,j(l,m) = 1 =
∑

(l,m)∈Y2

∑N
n=2:(yn−1,yn)=(l,m) ψ

[q]
n−1(i, j)

λ3
=

∑N
n=2 ψ

[q]
n−1(i, j)

λ3

Z'��1��b	���
�=�
�1�&
���������8�[^Ù���3*P1��
	[
�	%��=�	��3�3&<*E���3&
����
�	
f

[q+1]
i,j (l,m)

X ªx&<�7���
	�*+	��2���#����1��S��V���	����������
	��
^Ä���3*J1��
	��%
�	���=�	��3�3&<*E���3&
���¦�31�&<9/���2��	��

c
[q+1]
ij =

1

N − 1

N∑

n=2

ψ
[q]
n−1(i, j), f

[q+1]
i,j (l,m) =

∑N
n=2:(yn−1,yn)=(l,m) ψ

[q]
n−1(i, j)

∑N
n=2 ψ

[q]
n−1(i, j)

aÙ� X]\CX]e c

�������,�
	������,
 ����V���	��39/���3&
���M��=�	��<�
	��x��9:	���
�	����3&<��=�������
�&<�3&
������	��<�
	��H.2��1����3&
	�����	��H
�	��8��^Ä���3*+	��31�&<9/���2��	
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ª {ĉij |y} =
1

N − 1

N∑

n=2

ψ
[q]
n−1(i, j)

aÙ� X]\CX�W �"c

Z[��1��P��	��3����1�9:�����!�8� *k·�*+	k^Ù���3*P1��
	s
�	E��=�	����3&<*E���3&
���å0�1�	E��	��<�
	s��V���	��21�	s57���!�8�W*+=��3-��#
�	���C X
Z[=�����*+��&<�����:�����2�3����&<��	�*+	����¿~���C¿�:�8��*+=��3-���
�	%���bX,�?� 1��3&<�<&
��	�57�����8�[�����3&
���s
�	S9�����&
��	�*JV��8������	'	��
�
	[�����
��1��A��	�����	'9/���8��V��
	�021�	��<�
	[0�1�	'����&<�S�8�[^Ä���3*+	�
�1sV��31�&<� X �?	������
��1��T
�	[����	��35T=���������	�
�	

f̂i,j(l,m)��	s5A	�1��\57���\�������3��	W57����·��3��	S^Ù��&<�\
�&<��	�����	�*+	����S~D����1���	�
�1 �21�*+=�������	�1����p����1��M1��3&<�<&
�������E���
�����

\ �



��� ��5�5�������&<*E���3&
���¦��������-7���3�3&
021�	 X

f
[q+1]
i,j (l,m) =

ª {
f̂i,j(l,m)|y

}
≈

∑τ
t=1

∑N
n=2:yn−1:n=(l,m) ÿ

[x
[q]
n−1:n(t)=(i,j)]

∑τ
t=1

∑N
n=2 ÿ

[x
[q]
n−1:n(t)=(i,j)]

aÙ� X]\CX�W �"c

ªx&<�7���
	�*+	��2���x
��������
	+�����P
 ����V���	��39����3&
�����J��=�	��<�
	��J��9:	��E
�	����3&<��=��J������
�&<�3&
������	��<�
	��J.2��1����3&
	�����	��P
�	
�8�¯^Ù���3*+	

p(yn−1:n|xn−1 = i, xn−1 = j) = N (yn−1:n;mij ,Γij), (i, j) ∈ X 2 ������1�����V���	��������[�
	��^Ä���3*J1��
	��%
�	���=�	��3�3&<*E���3&
���¦�31�&<9/���2��	��_aá9:��&<�_» ` � ½ c�B




c
[q+1]
ij = 1

N−1

∑N
n=2 ψ

[q]
n−1(i, j)

m
[q+1]
ij =

Pτ
t=1

PN
n=2 yn−1:n �

[x
[q]
n−1:n

(t)=(i,j)]
Pτ

t=1

PN
n=2 � [x[q]

n−1:n
(t)=(i,j)]

Γ
[q+1]
ij =

Pτ
t=1

PN
n=2

“

yn−1:n−m[q+1]
ij

”“

yn−1:n−m[q+1]
ij

”t �
[x

[q]
n−1:n

(t)=(i,j)]
Pτ

t=1

PN−1
n=1 � [x[q]

n−1:n(t)=(i,j)]

aÙ� X]\CX�WE{ c

F%&<����&��A
��������
	\��������Å
ψ

[q]
n−1(i, j)

	����P��5�5�������-�=\57���PC¦���2��	Æ©��S���3�
���,���¤��V��3&
	����P
�	��¸^Ù���3*P1��
	��J
�	
��=�	��3�3&<*E���3&
�����4&

�	����3&
021�	���~[��	��<�
	��4
�	SCD�b�pC X �M� ��1��3��	S57���3�������!��	��3����1�9:	U=�.2���
	�*+	������
	��,^Ä���3*J1��
	��
���8�����3&
0�1�	���
������U�
	������'
�	��'�bCD�p©��SX¸aá9:��&<�Z» e'½ c X

�¸Û"� « u!uMv�t ¬ `Swmt�n�c��iv�`ie7d4|%}~d4c'wm`Uwmt�n�c½f!dyuJkTn ¬ d4eme7�!eå|�`��!e7e7t�d4cJe ¬ d4c��
w7kA�4e `�o�d ¬ ¦JkT�Jt3w�� ¬ nUkAkT�4v�`Swmt�n%c v�n�cJ|%�Jd

;'��	[
�	��U��5�5��<&
�����3&
�����U5T�/���3&<V��
	��S
�	��%�U�bG�C 5�����5T�/��=�	�
������/» e#e�½ �#	��U0�1�	%����1�����9:������=��31�
�&
=�	

������_» W � W�½ �m	��3�[
�	J��������&

�=���	���
�	��'V��31�&<���Y~¯ï �����3��=��8���3&
���D�
����./1�	)ðP5T��1��[�
	���021�	��
�'�
	��[�����3��=��8���3&
�����

�=�������&
����	����dïY�
	�����	�*+	��2� ð��U& X 	¦��	���021�	åB

limτ→∞ ταρ(τ) = cρ
�b��Å

α ∈]0, 1[
�
cρ > 0

	��3�s1���	
�������3�����2��	/�x	��

ρ(τ)
	��3��1���	k^Ä�������3&
���¢
 � ��1����������3��=��8���3&
��� X �b	+� (�5T	E
�	+V��31�&<�P&<�2��	��39#&
	��2�\
������!
�	

����*PV���	�1���	��%�3&<�317���3&
�����U	��S��	�5A	�1��S57����·��3��	[5��3&
�U	��W����*\5���	�57���b�
	��S*+�#
�)��
	��U
�	�C¦���3�:�@9s������-�=��
���8�����3&
0�1�	��[» W#W ���/��� \ � ½�X

ó=Ý���Ý�Ü ��æMã�þrútã/á�î�åqétë"ß�íìæ íìä�ã�ä0ç#â�å?átîÇç#ë"æMètå�ä�ç#ä�ßIè�á�æMètå�ã�î�å]�y�$B�Þ
�������P�
	������J
�	��!��-7�'}
��	��\����1�5��
	��!57���3�3&
	��<�
	�*+	����M
�	sCD���3�:��9Øa��U�bG�C�cÆ�>�
	��P5�����V7��V�&<�<&<��=��\
�	

�3�������3&<�3&
��� �������%
�������=�	���������5�5T	��
�����¥©��
	/��57���®aÙ� X � X]\CW c�B

p(zn|zn−1, y1:n−2) =
p(xn−1, xn)p(y1:n|xn−1:n)∑
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ŝ′B(y) =

{
F
��&
y ≤ r+t

1+2t

E
�3&
y ≥ r+t

1+2t

a `AX�W#X�W �"c

��	�0�1�& ����1���*+)���	Z~!�8�M5�����V7��V�&<�<&<��=J
 ��	��3��	�1�� �
ERR(pn, r, t) = pn(1 − pn) + (pn − r+t

1+2t )
2 X

�?	D5�����V��
)�*+	¿	��3�6
�	«����9:��&<� �3&�1��
t > 0

	Æ��&
�3��	«
�	«��	��<�
	D*E����&
)���	¿021�	
ERR(pn, r, t) <

ERR(pn, r)
B�	��s
 � ��1��3��	�����	��3*+	�����	��3�¥©�&<�m5T�/���3&<V��
	�
�	[
�=�������}
�3��	��8�J5�����V7��V�&<�<&<��=�
 ��	��3��	�1���	���&<���3����©


�1�&
��������1���	¼^Ä�������3&
����
�	S*E������	
m
�
������0�1�	S���������[1���	S9����
	�1���	��3������=�	

r Ç �,����=�5T������	U	��3�45T�/�3&<�3&<9:	
������4�
	U��������	Æ�#��	���1�&<9������ X �4�����2�b
�������=�0�1�	
p1:N

��	��������457�����������21�	���	���5T	�1�9:	��2��9/���3&
	��p��9:	��
n
�

����1����31�5�5T�/��������0�1?��	��<�
	��49/���3&
	��2����9:	��
n
	��������2�p�8�[��=����<&
�����3&
����
 � 1���	U9 X �

W
�/��9:	��

E[W ] = 1
2

X �?	
5�����V��
)�*+	!	��3�'
�	J9:��&<�[��&,����	��35T=���������	J
�	

ERR[W, r, t]

�=�������}
�'�
������0�1�	J��������1��3&<�<&
��	P1���	[^Ù�������3&
���


�	M*E������	
m

~s�8��5��8����	E
�	
r
��1?� 	��¿
 � ��1��3��	�����	��3*+	���� �
������021�	

t
����*\*+	�����	�~s57���3�3&<�P
�	

0
X ;'�

�����
��1������8�����3&
0�1�	dÈb
�������	 d
dt [ERR(W, r, t)](0) = −(1−2r)2 ��	U0�1�&�*+���2�3��	�0�1�	b����	��3��	�1��4*+��(:	�����	


�=�������}
�J	��J
������/�,0�1�	\5A��1��P1���	+./������
�	+9/���
	�1��P
�	
N
� ����	��3��	�1��!
�=�������}
�J=�.2���
	�*+	��2�!�
������0�1�	\�������

1��3&<�<&
��	
m
��16�<&
	�1 
�	

r
X

�ZÛ�� É c'w7kTn�f!� ¬ wmt�n�c f!d�v2>�t�cA@�nUk }~`Swmt�n�c e�uM`Swmt�`�v�d

�,�J*+=��3-��#
�	�021�	[����1��U���<�
�����S5���=���	��2��	�����������&
�3��	Y~P��	�*\5��8����	��U�8�P�
��&�Ì[ÑmÎÆÃÙÈ�ÎÒÃ457���S1���	[*E������	
=�9#&

�	��2�3&
	��<�
	�*E���3�:��9#&
	�����	/����	s021�&S5T	��3*+	��3�3�����H
 � ��5���)��+��	�0�1�	s����1��\��9:�����\9#1¿5���=���=�
�	�*\*+	������

�	�.:=���	������ &<���31CÀE�Ò������	J
�	J�8�E�������7��&
����������	J
�	J�8�E�
��&x�E5��3&
���3&>�����D�3�����3&
�����7��&<��	M	���&<���3����
�1�&
�Ò���2�
1��×�'�?��&<V��<&
����	�*+	���� X ���������8�¤�31�&<��	/�p����	�����	�*PV��
	 X �����3��	��35T����
 ��1×����
���	�
�	�
�&
����	��3��	�*+	��2�

Ω
�

����	�����	�*JV��
	 U �����3��	��35T����
q~ P(Ω)
	�� Y �����3��	��35T����
q~!����	�����	�*PV��
	J
�	�����=�	��
�YÖ X

^�� -/�=�"�0a`�
ERR(pn, r) = (1 − pn)

R r

0
f2(y)dy + pn

R 1

r
f1(y)dy = pn(1 − pn) + (pn − r)2

4� � -Y�0�"�0a`��10a�$�-dai2'()-'-�1 ��e�&��
(m ⊕ q)(E) ∝ 2(r + t)(1 − y)

�0a
(m ⊕ q)(F ) ∝ 2(1 − r + t)y

�
(m ⊕ q)(E) ≥

(m ⊕ q)(F )
.0�Êb)-��gË���e
&'�

(r + t)(1 − y) ≥ (1 − r + t)y
�E()&¸�ü-�� (����

y ≤ r+t
1+2t�`Ì��Ù�%$Y1]� &21U�ü.jai$�-�$Í13(Yb)&'��hì� ��1]&��U2'�

ERR[pn, r]
��$`;p�ü�

r+t
1+2t

$�&Î1]�]� &Y2'�
r
4Ï � - .0&'*�*#().�$�-daye
&'�

d
dt

(E[ERR(pn, r, t)]) = E[ d
dt

(ERR(pn, r, t))]
��-�(�&�.Ã$`;p()-'.

d
dt

[ERR(pn, r, t)] =

−2[pn − (r+t)
(1+2t)

][ (1−2r)

(1+2t)2
]
�A�=a¿$��]-�.0�

d
dt

[ERR(pn, r, t)](0) = −2(pn − r)(1 − 2r)
4 � -k*E��� -�$�-ca½1Ð� �ü.0*#1ü��$�-'� �O��-�(�&�.

()!6a�� -�(�-�.
d
dt

[ERR(W,r, t)](0) = −2(E[W ] − r)(1 − 2r) = −2( 1
2
− r)(1 − 2r) = −(1 − 2r)2

� `



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

1

2

3

4

5

6

7

8

9

α

γ

γb=1/9
γb=1/3
γb=1
γb=3
γb=9

�½����� `AX�W#X�W õ �=� 	��%
�16����	)ÀE��&
	����'
 � �'�?��&<V��<&
����	�*+	��
α
�31��U�8�M9/���
	�1��%
�16��	�1�&<�>
�	�
�=���&
�3&
��� X

��ÝPó=Ý�Ü �[�tæKS�è�îjåqá�îbÞ æ ë
T�ß�!hâQ!Ùä�á�î�è,ç"ä�îjã�ã�îjåSþCæMþV��âAî�å

;'��	�^Ù�������3&
���!
�	b*E������	
m

�=)¶���&
	S�31�� P(ΩN )

	����>1���	b��-7�'}
��	U
�	bC¦���3�:�@9P=�9#&

�	��2�3&
	��<�
	[a��bC¦�ìc
�3&?	��<�
	�	��3�U��1��<�
	P	��6
�	�-������%
�	

[P(Ω)]N
	����3&�B

m(u) = m(u1)
N∏

n=2

m(un|un−1)
a `AX � X�W c

��Å�����=����3&<�31���	
m(un|un−1)

��&<./��&µ¶7	[0�1�	'������������������&
	¸~P��-7��021�	
un ⊂ P(Ω)

1���	[*E������	
m(.|un−1)

X
;%��	W�bC ���8�����3&
0�1�	s	��3�M��&<����&�1��å�����!57���3�3&
��1��<&
	��M
�	W�bC¦���H
������J�8��0�1�	��<�
	

m(u1)
	��!����1���	��!�
	��

m(un|un−1)
�����2�>�21��<�
	��x	��J
�	�-������,
�	��x�3&<��./�
	�������� X �,�y^Ä1��3&
������ �
�	

m
��9:	��p1���	��
��&�
�	�5�����V7��V�&<�<&<��=


�������=�	�57���_a `AX � X �"cS	����%���
������1���	�5�����V7��V�&<�<&<��=P0�1�&?.:=���=������<&
��	��8�!�
��&�Ì�Ñ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ X

q(x) =
N∏

n=1

q(xn)
��9:	��

q(xn) =
p(yn|xn)∑

x′n∈Ω

p(yn|x′n)
a `AX � X �"c

�b	��3��	¸^Ä1��3&
���6����=����3&<�

(m⊕ q)(x) =

∑
u∈[P (Ω)]N

ÿ [x∈u]m(u)q(x)

∑
x′∈ΩN

∑
u′∈[P (Ω)]N

ÿ [x′∈u′]m(u′)q(x′)
a `AX � X]\ c

�/�



F�¶��E
�	U*+���2�3��	��S0�1�	
m⊕q 	��3�p1���	�*E���3./&<�7���
	[
 � 1���	[�bC¢�:	��p0�1�	 (m⊕q)(x) =

∑
u∈U p(x, u|y)=������Q&��������
	���=���1��<�����%���8�����3&
0�1�	��31�&<9/���2�PB

n lTxÇxÇl��±J8²KJÄ±�J ëAÈ�ÃÄÂ V = {Vn}n∈N
É#ÅDÑmÎ3È�Õ�ÁÒÇÒÇÒÉ�Ç�ÇÆÂ�È�ÕÆÚ�Ì�ÇÆÂÄÃÙó�É�ÁÒßJÕÆÚ#Ì:ó�É�Á

Vn
ÑmÎ�ÁÆÅmÌ�Å7Â[Ç�ÁÒÇ�ï�Ì�N

ã
ÁÆÉ�ÎÒÇEÊ:Ì�Å�ÇMÉ#Å¿ÓEòÆÓEÁEÁ�Å�Ç�ÁÆÓEÍÆã
Á���Å�Ã�è4�'ã<È�ÎÒÇ
V
ÁÒÇ�Â�É#ÅAÁ ú î�ÇÒÃ%Á�ÂUÇ�ÁÆÉ#ã<Á�Ó+Á�Å7Â�ÇÆÃSÃÔãpÁ3Ð�ÃÔÇÆÂYÁ

N − 1ù�È�ÅmÕ�ÂÄÃÙÈ�Å�Ç�Ñ�È�ÇÒÃÄÂÄÃÔï�ÁÆÇ¤Ç�È�ÓMÓ+Ì2ÍÆã
ÁÒÇ
r1, . . . , rN−1

ß�ÂYÁÆãáã<ÁÒÇ ó�É�Á¢ãíÌ ã<È�ÃsÊ�Á
V

ÁÒÇÆÂPÑmÎ3ÈÒÑ�È/ÎÆÂÄÃÙÈ�Å�ÅAÁ�ãÔã
Á Ï
r1(v1, v2) . . . rN−1(vN−1, vN )

è L Á ÑmãñÉ2ÇÒß7ãíÌ[ã<È�ÃmÊ�Á V ÁÒÇÆÂ Ì�ã<È�ÎÒÇ�Ê:È�Å�ÅAé�Á?Ñ�Ì�Î
p(v1) = β1(v1)/

∑
v′
β1(v

′)
Á�Âmã<ÁÆÇ�ÂÄÎ¥Ì/Å�ÇÒÃÄÂÄÃÄÈ/Å�Ç

p(vn|vn−1) = rn−1(vn−1, vn)βn(vn)/βn−1(vn−1)
ßAÈ�²Jã<ÁÒÇ�ù�È�ÅmÕ�ÂÄÃÄÈ�Å�Ç

β1, . . . , βN
ß

Ç�È/Å7Â�Ê2é���Å�Ã�ÁÒÇbÑ�Ì�Î
βN (vN ) = 1

ßbÁ�Â
βn−1(vn−1) =

∑
vn

rn−1(vn−1, vn)βn(vn)
è

�4���������3&

�=������2�'�
	�5�������	�����1��
V = (X,U)

�m��9:	��
Vn = (Xn, Un)

��5T�/�������
{
r1(v1, v2) = ÿ [x1∈u1] ÿ [x2∈u2]m(u1, u2)q(x1)q(x2)

rn−1(vn−1, vn) = ÿ [xn−1∈un−1] ÿ [xn∈un]m(un−1, un)q(xn)q(xn−1)
5T��1��

3 ≤ n ≤ Na `AX � X ` c
�,�!0�17���2�3&<��= ÿ [x∈u]m(u)q(x)

	��3�U
�	[�8�Z^Ä���3*+	
r1(v1, v2) . . . rN−1(vN−1, vN )

	��U
������ka `AX � X �"cb	��3���
	��W9:	��3�31 
�1 �,	�*\*+	 `AX � X�W ��1���	J�bC ��9:	��P�
	��U�3�������3&<�3&
�����%�����
��1��8��V��
	�� X

p(v) =
ÿ [x∈u]m(u)q(x)∑

x′∈ΩN

∑
u′∈[P (Ω)]N

ÿ [x′∈u′]m(u′)q(x′)
a `AX � X �"c

GH���%��&<�<�
	�1������
(m⊕ q)(x) =

∑
u∈[P (Ω)]N

p(x, u)

 � ��5���)��Za `AX � X]\ cÆ����	�021�& *+�����3��	�0�1�	

m⊕ q
	��3�S1���	

*E���3./&<�7���
	E
�	\��	��3��	E*k·�*+	��bC X  �����-7���2�M0�1�	
(m ⊕ q)(x)

.:=���=������<&
��	\�8�W�
��&'ÌMÑ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ�
�	
X���8�����3&
0�1�	¯a

y
¶�./1���	�
������

(m⊕ q)(x))
�����6�

p(xn|y) = (m⊕ q)(xn) =
∑

un∈P (Ω)

p(xn, un)
021�& 	��3�

��&<���3&������
��1��8��V��
	/�/��	�0�1�&#5A	��3*+	��4
 ��	��3�3&<*+	��H1���	b��=����<&
�����3&
���\
�1M5�������	�����1��x������-�=U��1!��	����H
�1\C¦G�C X
Z[��1��P��5�5A	��
	��������\��-7�'}
��	E
�	EC¦���3�:�@9D=�9#&

�	��2�3&
	��<�
	s������-�=S~�V��31�&<��&<��
�=�5T	���
����2�?a��bC��b�p©��bX%c��8�
�bC¦"g�����3��	��35A����
������/~\��	�*+�#
�)��
	�57���3�3&
��1��<&
	�� X

�b��������)���	�*+	������?�
	���0�17���2�3&<��=��
p(xn|y)

	��
p(vn, vn+1|y)

��	M�����
��1��
	����_~�57���3�3&<��
�	���0217�����3&<��=��
a `AX � X ` c¯aÄ
��������
	���0�1�	��
�

y
¶�./1���	M&<*\5��<&
��&<��	�*+	��2���>������-7�����P0�1�	

q(xn) ∝ p(yn|xn)
c[
�	!�8�s*E����&
)���	

�31�&<9/���2��	+B
õ $'�E�����
��1��
	%�8���31�&<��	 β1, . . . , βN

�:	����
	��4�3�������3&<�3&
�����
p(vn|vn−1)

57�����
	��=^Ù���3*P1��
	��b
�1E�?	�*\*+	
`AX � X�W#X

õ G41�&
�@���
	��U*E���3./&<�7���
	�� p(vn) �����2�'�����
��1��
=�	�����=���1����3&<9:	�*+	����'57���




p(v1) = β1(v1)

p(vn) =
∑
vn−1

p(vn|vn−1)p(vn−1)
a `AX � X �"c

��	�0�1�&:
�������	
p(xn|y) =

∑
un∈P (Ω)

p(xn, un)

 � 1���	457���3���@	��

p(vn, vn+1|y) = p(vn|vn−1)p(vn−1)
�

0�1�&,��	���������1��3&<�<&
��=�	���
������%�8�M�31�&<��	�5T��1��U����	��3�3&<*E���3&
����
�	��U57������*+)��3��	��@�7
 � ��1��3��	�57���3� X

�/�



� H
@ED�xÇBC@ED�>jF±L,lUH[�,BrK�BAxÑº�@
K'lUH GH���b��&<�<�
	�1��������������3&

�=���	��
V = (X,U)

����*\*+	%=��������p�
	%5�������	��¥©
�31��S������-�=�
������

T = (X,U, Y )
aÄ0�1�&?
�	�9#&
	��2��
�������1���	P�bC«�p©��bX����8�����3&
0�1�	Ec�5A	��3*+	���
 � ��5�5��<&
0�1�	��

��� 1���	�
�	��U*+=��3-��#
�	��%���8������&
021�	��U
 ��	��3�3&<*E���3&
���¦
�	��U57������*+)��3��	����m����*\*+	���C¢�m #��C¢����16X¥�b� X
Z[��1�� 5�����5A�/������� �8�b*+=��3-���
�	�
 ��	��3�3&<*E���3&
���P
�	�� 57������*+)��3��	��x�31�&<9/���2��	 X �>�U��-7�'}
��	

T = (X,U, Y )=������2�\�3�����3&
�����7��&<��	/�H��� �
��&b	����J
�������=�	s57���
p(tn, tn+1)

�>0�1�&���	s
�=�5T	���
æ57���M
�	
n
X Z[���������!0�1�	

�/��	��3�S1���	��
��& &<��-7��V�&<�31�	��<�
	P
������S�
	�����-7�'}
��	���
�	�CD���3�:��9�������-�=�	��%
��������
	���	����U��Å
p(yn|xn, un) =

p(yn|xn)
�ì��	�021�&��3&<./��&µ¶7	�021?� &<�#(P�U*+��&<���x
�	�
�	�����&<��=��>
�	�ïYV��31�&<� ð�0�1�	p
�	��x=��������>
�1!5�������	����31��>������-�=

V = (X,U)
X Gx��1��

K
���8������	��

Ω = {ω1, . . . , ωK}
�/����1���
�	�9:������	��3�3&<*+	��

K
*+�@(:	�����	��

µ1, . . . , µK	��
K
9����3&8������	��

σ2
1, . . . , σ

2
K


�	
K

�	����3&<��=��>.2��1����3&
	�����	��

p(yn|xn = ω1), . . . , p(yn|xn = ωK)
����&<���3&

021�	!�
	��
(K + 1) × (K + 1) − 1

57������*+)��3��	��
mij = p(u1 = Ai, u2 = Aj)

�T021�&4
�=)¶���&
����	�����1���	
�bC��æ�31�� U = {ω1, . . . , ωK ,Ω} aÄ=������2��
�������=�021?�����E1��3&<�<&
��	U&
��&�1���	U*+=��3-��#
�	�
 � �'�?��&<V��<&
����	�*+	��2��c X

�4�«5T�/�����2�
γ(xn, un) = p(vn|y)

	��
ξ = (xn, un, xn+1, un+1) = p(vn, vn+1|y)

aá����1��P��*+	��¥©
�������

y
�'¶��÷
�	���&<*\5��<&µ¶7	����
	��s���������3&
������cÆ���
	�
�=�����1��
	�*+	����6
�	 ��� ���<.:���3&<�3-�*+	D��C 1��3&<�<&
��= 	��3�s�
	

�31�&<9/���2�
aá&Pc�&<��&<�3&8���<&
�����3&
���¢B

θ0 = (m0
ij , µ

0
k, (σ

0
k)

2)0≤i,j≤K+1,1≤k≤Kaá&<&Pcb5T��1��U����1��
q ∈ Ò � θ[q+1] 	��3�������
��1��
=Z~M57���3�3&<�%
�	

(y1, . . . , yN )
	��
θq
57���

m
[q+1]
ij =

1

N − 1

N−1∑

n=1

∑

(xn,xn+1)∈Ω2

ξ[q](xn, un = Ai, xn+1, un+1 = Aj)
a `AX � X3{ c

µ
[q+1]
k =

1

N

N∑

n=1

∑

un∈U
γ[q](xn = k, un)yn

a `AX � X]| c

(σ
[q+1]
k )2 =

1

N

N∑

n=1

∑

un∈U
γ[q](xn = k, un) × (yn − µ

[q+1]
k )2

a `AX � X]e c

Z'���������H0�1�	b�8��*+=��3-��#
�	b1��3&<�<&
��=�	U
�������	b��� ���<.:���3&<�3-�*+	U��C ���8������&
021�	��
������0�1�	��8���bC¦�
U
��	���-7���3.:	

021�	��
	��%�3&<��./�
	��������_aÄ�����\���
�����
U = X

	��%�8�+�bC����p©��SXS
�	�9#&
	��2��1���	J�bC«�p©��SX����8�����3&
021�	Ec X
�%	�9:	��������b��1E5�����V��
)�*+	'
�	��8����	�./*+	��������3&
���������E�31�5T	��39�&
��=�	%
�	��p��-7�'}
��	��b
�	%CD���3�:��9+������-�=�	��

^Ä���3��	�*+	����������«�3�����3&
�����7��&<��	�� X Z[��1�����9:������
�	�1���*E����&
)���	��P
�	J�3����&<��	����
	!5�����V��
)�*+	+	��[������V��¥	����3&µ^

�	��U��=��31��<�������%5���=���	��2��=��/~!�8�\ªx&<./1���	 `AX � X�W 	��3��
�	�*+�����3��	��%��� &<�2��=��¹·��[
�	��8�M��	�������
�	+B

W#X ���W��5�5��<&
021�	'�8�P*+=��3-���
�	[���8�����3&
0�1�	¿^Ù����
�=�	[�31����
	%*+��
�)��
	[
�	��bCD�p©��SX X �?	��b57������*+)��3��	��U
�	
�8���bCD�p©��SX

Z = (X,Y )
���31�5�5A�/��=�	��3�����3&
�����7��&<��	/�/�����2�4	��3�3&<*+=��x57���4��C 	��x�8�'��	�./*+	��2�����3&
���

	��3��	)� 	����31�=�	/���31��%�8�!V7����	�
�	���57������*+)��3��	��'	��3�3&<*+=�����57����C¦G�C %
� X ��� ��������&

�)���	P�8�E�bC¦���p©��SX

T = (X,U, Y )
�7��Å6�8�E��-7�'}
��	P
�	JC¦���3�:�@96������-�=�	J�3�����3&
�����7��&<��	

	��3�
V = (X,U)

�b����*\*+	�
�=����3&<�s��&í©Y
�	����31�� X �,	��E57������*+)��3��	�����������	��3�3&<*+=��E57������C¢���
	��
*E���3./&<�7���
	��

p(vn|y) = p(xn, un|y)
�������������
��1��
=�	��%���8������&
021�	�*+	����/~!57���3�3&<�%
�	��U57������*+)��3��	��

	��3�3&<*+=���	��×1��3&<�<&
�����2����� ���<.:���3&<�3-�*+	«
�	¦�����
��1���
�	���5�����V7��V�&<�<&<��=���*E���3./&<�7���
	��¤Ì Ñ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ X
�4����1�&<��	/���
	��b*E���3./&<�7���
	��

p(xn|y)
�����2�U�����
��1��
=�	��¿~�57���3�3&<�U
�	��

p(xn, un|y)
	�������*\*E�������31��

� {



������� `AX � X�W õ ��	s-7��1��+	��åV7���sB�aÙ�"cJ5����#��	����31��M������-�=/�¿aáVjcJ5����#��	����31��M��V���	��39:=/�¿aÄ�EcP��=��31��<�����+
�	
�8�+��	�./*+	��2�����3&
���«�����D�31�5A	��39#&
��=�	!
�	��8���bCD�[�=aÄ
�c�9����3&8���3&
���«
�1D����	)ÀE��&
	�����
 � �'�?��&<V��<&
����	�*+	����

α������
�&<�3&
������	��<�
	�*+	��2�E��1��¢��V���	��39����3&
�����@�ìaÄ	Ec���=��31��<�����!
�	E�8�6��	�./*+	��������3&
��� ������©Y�31�5T	��39�&
��=�	�
�	E�8�
�bC¦���p©��SX

un
����	�0�1�& 5T	��3*+	������ ��5�5��<&
�����3&
����
�	��8�!*+=��3-��#
�	�C¦G�C X

�,�!��=����<&
�����3&
���
X = x


�1W5����#��	����31���������-�=Z~M
�	�1��W���8������	����#��	�5���=���	�����=�	P�31��U�
	[./����5�-�&
0�1�	daÙ�"cS
�	
�8��ªx&<./1���	 `AX � X�W �?	��3�¸^Ù���3��	�*+	��2�������¿�3�����3&
�����7��&<��	 X �?	\V��31�&<����.:	E���8�����3&
0�1�	\�������3&
�3��	k~��������3&

�=���	��

�	�1��\
�	����3&<��=��4.2��1����3&
	�����	��p
�	S9����3&8������	U=�.2���
	�~

1
�/	���
�	S*+�@(:	�����	��

1
	��

3
��	��35T	����3&<9:	�*+	��2���2��	U0�1�&


�������	\1���	M��=����<&
�����3&
���
Y = y

��	�5���=���	��2��=�	��31����
	M./����5�-�&
0�1�	maáVjc X �,����=����<&
�Ò���3&
���æ
�1«5�������	����31��
������-�=!	��3�3&<*+=�	!57���[�8�\5���	�*\&
)���	!*+=��3-���
�	M	��3�'5���=���	��2��=�	M�31��'�
	P./����5�-�&
0�1�	?aÄ�Ec % ���D�������3������	!021�	
��	��3��	b*+=��3-���
�	S	��3�x&<������57��V��
	U
 ��	��3�3&<*+	��4�����3��	�����	�*+	��2�p����	���
�����&<����ÅJ�
	��x5�����V7��V�&<�<&<��=���
�	b�3�������3&<�3&
���

 � 1��\=������=~'1��M=������4
�&µ�T=���	����������2�H�3��)��,^Ä���3��	���aá�
	��

xn
5A��1��

n
9/���3&8���2�4
�	

70
~

130
c X Gx�����������3��	/���8�


�	�1���&
)�*+	4*+=��3-���
�	/�ì
����2�>�8�S�3���ì�¥	�������&<��	�	��3�3&<*+=�	�	��3�,5���=���	��2��=�	��31�� �
	4./����5�-�&
0�1�	�aÄ	EcÆ��5���=���	�����	�1���	
	��3�3&<*E���3&
���!�����29:	��7��V��
	S
�	p��	��3��	p57���3�3&
	�
�1�5����#��	����31��>������-�= X F¿¶��!
�	�*\&
	�1��P��	��3��	��x��	�5�-�=�����*+)���	
����1��\��9:�����M5���=���	�����=W�31��!�
	�./����5�-�&
0�1�	naÄ
�c��
	��\����	)ÀE��&
	������\
 � �'� ��&<V��<&
����	�*+	��2����5�5��<&
0�1�=����x5A��1��
��-7��0�1�	�5T��&<�2�

n
�T~!�8�J�
��& *E���3./&<�7���
	��J5T�/�3��	��3&
���3&?�����3��	��35T����
����2��	 X X � ��� ��9:)���	�0�1�	���	��S*E���3./&<�7���
	��

��	 �����2�s5������3&
021�	�*+	����W57���E*+�#
�&µ¶7=�	��W��1��à5A��&<�����s��Å �8�¤5���	�*\&
)���	¦*+=��3-��#
�	�
�������	¦
�	���VA�����
��=��31��<�������kaá�
	���5T��&<�2����	��«
�	�-�������
�	��

n
9����3&8������
�	

70
~

130
c % 57���������2�3��	/�T��� �'�?��&<V��<&
����	�*+	��2�J	��3�

*E�ì��&<*E���>5T��1��'1���	!VT������	P57���3�3&
	!
�	��[5A��&<��������1¦�8�E5���	�*\&
)���	!*+=��3-���
�	Z^���&<�<�<&<��aá�
	��
n
9/���3&8���2��
�	

70
~

130
c X �b	S5�-�=�����*+)���	/�2
����2�p����	Æ�#5��<&
�����3&
���+*E���3-�=�*E���3&
0�1�	�*+	��2�b�3&<.:��1���	�1���	U��	S����1�����5�57�����'}
�

57���H��9:	��b=�9�&

�	�����	/��	��3�,&<����=���	����������>5T��1��>�
	��x��5�5��<&
�����3&
�����H5������3&
021�	�� X �4�J57���3�3&
��1��<&
	�����&<�2��=���5�57�����'}
�

������U�
	�����	�./*+	��2�����3&
�����'����� �31�5T	��39�&
��=�	��%
 � &<*E��.:	���5���=���	�����=�	���~!�8�®¶�� 
�	���	P��-7��5�&<�3��	 X

� |



ñ lTxnBrK�ò�NIl �?	¦*+��
�)��
	D
�	��8� �bC����p©��SXÆ�S��Å×�8� �bC¦�
m(u)

	�����^Ä1��3&
������=�	«��9:	��¦�8�¿�
��&�
�	
5�����V7��V�&<�<&<��=

q(x)
5T	�1���·��3��	�.:=���=������<&
��=���1å�����\
�	�5��<1��3&
	�1����\����5���	�1����M&<��
�=�5A	���
��������

c1:r

�	s�8�

^Ù��&����×�31�&<9/���2��	 X  �&%����1��s�
	��s����5���	�1�����5����#
�1�&
��	����s
�	��s�
��&
�s
�	 5�����V7��V�&<�<&<��=����b�8�¤.:=���=������<&
�����3&
���
	��3�!&<*\*+=�
�&8����	W	��¿��	�*\5��8��&������

q(xn) ∝ p(yn|xn)
57���

q(xn) ∝ p(y1
n|xn) . . . p(yrn|xn)

�H021�&S	��3�
1���	�^á1��3&
���à�� X  �&���	��3����&<���+
�	��\����5���	�1����

c1, . . . , cs
aá57���+	Æ�#*\5��
	��
	��

s
5���	�*\&
	�����cM5�����
�1�&
��	����


�	���*E������	��naÄ
�	D��	��<�
	��6��&<�317���3&
�����6��Å?�b57���6	Æ��	�*\5��
	/�U1��g����5���	�1�� ��5��3&
0�1�	«	��3�W�����C^Ä�����2��=Ç~¢�8�
5���=���	�����	!
�	P��17��.:	����T�����2��=��31�
�&
=�	���
������¯» � { � {E½ cÆ�A��	��'
�	��3��&
)���	��������2��^á1��3&
������=�	�����9:	��J�
	��

r − s5�����V7��V�&<�<&<��=��S
�������=�	��p57���
p(ys+1

n |xn), . . . , p(yrn|xn)
��9:	��/��5A��1�����=��31��<�������:1���	%5�����V7��V�&<�<&<��=

q(xn)
X

�b	��3��	�
�	��3��&
)���	�	��3�%���
�����¿^á1���&
������=�	P��9:	��
m(u)

	��U�8�M�31�&<��	�
�	��8�\
�=�*E������-�	P	��3�U&

�	����3&
021�	®~M��	��<�
	
�����3��	��35T����
����2�[��16�����%
 � 1�� ��	�1��,����5���	�1���5�����V7��V�&<�<&
����	��3����&<��=�
���������	P��-7��5�&<�3��	 X

�ZÛ(' Ó �!e7t�n�c�Ôiz f!`�c!e ]_h ]_n��Ju!v�d

Z[��1��b��9:������9#1�
������b��	[021�&m5���=���)�
�	'0�1�	��
������0�1�	[
������p1���	��bCD�p©��SX
(X,Y )

������	�*\5��8����	[�8�
�
��&mÌpÑmÎÆÃÄÈ/ÎÒÃT
�	

X
57���?1���	b�bC¦���@�8�¼^á1���&
���J
�	���	��3��	�
�	��3��&
)���	b��9:	���1���	�5�����V7��V�&<�<&<��=b
�=)¶���&
	y~S57���3�3&<�


�	�����V���	��39����3&
�����
Y = y

	��3��^Ù���3*+	��<�
	�*+	��2���8�E�
��&H
�	
X
������
�&<�3&
������	��<�
	k~

Y = y

�=�
�1�&<��	M
 � 1���	

�bC�"
T = (X,U, Y )

����	S021�&�5T	��3*+	��H�
	b�����
��1���
�	��H5�����V7��V�&<�<&<��=���*E���3./&<�7���
	��%ÌbÑ�È�ÇÆÂYÁÆÎÆÃÄÈ/ÎÒÃ
p(xn|y)

X
 �����-7������021�	b�
	����bCD�p©��SX 5T	�1�9:	��2��·��3��	b=���	���
�1�	��p��1��M�bC«�[�:�bCD�b��1�5��
	/��	��p�U�bG�C¢���8�'0�1�	��3�3&
���
021�&m��	U5T�/��	%	��3����	��<�
	%
�	%�Ò��9:��&<�S��� &<�7	��3�b	���������	�5T�/���3&<V��
	/�2
���������	���	Æ����	����3&
��������
�	���	�*\5��8����	��b�8���
��&
�!5��3&
���3&,
�	

X
57����1���	P�bC¦�_
�	�*E����&
)���	_~M��	�021�	��
	���=���1��<������
�	��8�M����*PV�&<�7��&
�����¦
�	���	�*\5��3��	��

��9:	��'1���	�5�����V7��V�&<�<&<��=�
�=)¶���&
	'57���p�
	��b��V���	��39����3&
�����
Y = y

=���	���
�	/�#
 � 1���	'57���3���2�8���
��&xÌ'Ñ�È�ÇÆÂYÁÆÎÆÃÄÈ/ÎÒÃ

�	

X
	�����VT��1��3&
����	/�m
 � ��1��3��	P57���3��� ~\1��¦��=��31��<������	Æ�#5��
��&<����V��
	!����*\*+	!
������%�
	!�����'
�	����bC«�p©��bX X

������V��3	���
�	\��	��3��	\��	����3&
���¤	��3��
�	M*+���2�3��	��J021�	M�8�s��=�5T������	M	��3��5T�/�3&<�3&<9:	 X G>��1��J��	��8��� �������3&

�=��������
1���	E�bCD�b��1�5��
	

Z = (X,Y )
�?��9:	��

p(z) = p(z1)p(z2|z1) . . . p(zN |zN−1) =
p(z1,z2)...p(zN−1,zN )

p(z2)...p(zN−1)

X
 �����-7�����J0�1�	

p(zn, zn+1) = p(xn, xn+1)p(yn, yn+1|xn, xn+1)
	��
p(zn) = p(xn)p(yn|xn)

�T�8�s�
��&

�	
Z
�@��=����3&<�%=�.2���
	�*+	��2�

p(z) =
p(x1, x2) . . . p(xN−1, xN )

p(x1) . . . p(xN−1)︸ ︷︷ ︸
a(x)

× p(y1, y2|x1, x2) . . . p(yN−1, yN |xN−1, xN )

p(y2|x2) . . . p(yN−1|xN−1)︸ ︷︷ ︸
b(x, y)

a `AX]\CX�W c

����=����3&<�31���	Sa `AX]\CX�W cS	��3�%��&<���3&?9/���8��V��
	�
������U����1����bCD�b��1�5��
	/�A��9:	����3����&
�������%57���3�3&
��1��<&
	����PB
W#X �
	��

p(yn:n+1|xn:n+1)
�����2�\
�	��8�q^Ä���3*+	

p(yn:n+1|xn:n+1) = p(yn|xn)p(yn+1|xn+1)

������

b(x, y) % ���6��	��3����1�9:	��
	�������
�	P�bC«�p©��SXb�3����&<��=�
������U�8�\��	����3&
��� 5���=���=�
�	��2��	 %
� X ����=�.2���<&<��=

p(yn, yn+1|xn, xn+1) = p(yn|xn)p(yn+1|xn+1)
�?� ��57������=���	�������&<��	�*+	����b�<&
	�1�*E��&
�

��� &<����=�./�����
	�
�	
b(x, y)

57���U����5�5T���3��~
y
9���1��

1
B����
�����U�
	�*+�#
�)��
	�	��3�S1���	P�bCD� 	��

a(x)
	��3�

�8�!�
��&,
�	
X %

\CX ��� &<����=�./�����
	 
�	
b(x, y)

57���\����5�5T���3��~
y
��	�9���1��M57���

1
aÄ��	�0�1�&U��	�9�&
	����d~D
�&<��	W021�	

a(x)�?��	��3�P57�����8���
��&b
�	
X
�?��1¢	���������	E0�1�	

X
�?��	�����57���P
�	�C¦���3�:�@9D	��J
������

(X,Y )
	��3��1���	

� e



�bC«�b��1�5��
	M�������/·��3��	P1���	\�bCD��c X Z[���������[0�1�	P
���������	!
�	��3��&
	��[�����
p(xn, xn+1)

¶�./1��������

������ka `AX]\CX�W c[	����'V�&
	��D�8���
��&4
�	

(Xn, Xn+1)
5T��1�������1��

1 ≤ n ≤ N − 1
�m*E��&
�

a(x)
�?��	��3�

57�����8�M�
��&?
�	
X

X
�b�����3&

�=��������H�
	b�����x�
	p5��<1��x.:=���=���������ÅM�8���
��&�
�	

Z = (X,Y )
	��3�x
�������=�	b57���¿a `AX]\CX�W c X F%&<����&

a
�?��	����

5��<1��b��=���	�������&<��	�*+	����U�8�P�
��&T
�	
X
	����#
�	[*E����&
)���	�=�0�1�&<9����
	�����	/�

b(x, y)
�?��	��3�S5��<1�����=���	�������&<��	�*+	��2�

�8�\�
��&x
�	
Y
������
�&<�3&
������	��<�
	�~

X = x
X �b	�5T	���
����2���T	��������������

q
�8�+�
��&x
�	P5�����V7��V�&<�<&<��=M��V���	��21�	�~

57���3�3&<�U
�	
b(x, y)

57���S�����3*E���<&
�����3&
���657���S����5�5A���3�¿~
x
	��¿~

y
¶���=��@�#����5T	�1����'À+�3*+	���021�	[�8�J�
��&?�

5T�/�3��	��3&
���3&
p(x|y) 	��3���
	���=��31��<�����S
�	%����*JV�&<�7��&
�����W
�	%��	�*\5��3��	��S
�	 a 57��� q X �4���31�&<9/���2�b�8��*k·�*+	


�=�*E������-�	J021�	���	��<�
	J��5�5��<&
021�=�	!��1 �����Za W cS
������U�8�+��	����3&
���65���=���=�
�	��2��	/�A���W5T	�1��%
�������	��29#&
����.:	��

�	���	�*\5��8����	��

a
57����1���	���-7�'}
��	�=�9�&

�	����3&
	��<�
	 X

�[K�>���>jHEDP@ED�>jFÕ�±JuzmJÄ±�J ëTÈ�ÃáÂ Z É�ÅTÁ ú î ú È/É�Ñmã
Á¢Á�Â+Ç�È�Ã�ÁÆÅ7Â q ãíÌ_ãíÈ/ÃEÊ2ÁWÑmÎ¥È�Í3Ì2ÍÆÃáãýÃÄÂYéåÊ2é��pÅ�ÃÙÁ�Ñ�Ì�Î
b(x, y)

³�ÌÒÑmÎ�âÒÇJÅmÈ/ÎÒÓ+Ì�ãñÃ8Ç�Ì/ÂÄÃÙÈ�ÅsÑ�Ì�Î!Î¥ÌÆÑ:Ñ�È�Î�Â%Ï
x
Á�Â
y

�>Ð2éÒÇ=´WÁ�Â
m
É#ÅAÁ ú î?Â{Ê�é���Å�Ã�Á�Ñ�Ì�Î

m(u) =
m(u1,u2)...m(uN−1 ,uN )

m(u2)...m(uN−1)

³
m
é�ÂYÁÆÅmÊ�ã<Ì�ÑAÎ¥È2Í�Ì2ÍÆÃáãýÃÄÂYé

a
Ê2Á$³�ÕAè t è p ´Y´/è

�'ã<È�ÎÒÇ�ã<ÌMùÒÉ�ÇÒÃÙÈ�Å L ë m ⊕ q
ß�ó�É�Ã�ç2é�ÅAéÆÎ3Ì�ãýÃÔÇ�Á6ã<Ì«ã<È�Ã!��5T�/�3��	��3&
���3&

p(x|y) Ê�ÉàÕ�Ì�Ç6Õ�ã<Ì�Ç�ÇÆÃÄó�É�Á6È~²
m = a

ßPÁÒÇÆÂ�ãíÌDã<È�Ã[Ó+Ì�ÎÄç/ÃÔÅmÌ/ã<Á�Ê2Ásã<Ì ú î p(x, u|y) Ê�é���Å�Ã�ÁPÑ�Ì�Î�ã
ÁÒÇ�ù�È�ÅAÕ�ÂÄÃÄÈ/Å rn−1(vn−1, vn) =

rn−1(xn−1, un−1, xn, un) = ÿ [xn−1∈un−1] ÿ [xn∈un]m(un−1, un)qn(xn−1, xn)
Ì�ï�Á�Õ

q2(x1, x2) ∝
p(y1, y2|x1, x2)

Á�Â
qn(xn−1, xn) ∝ p(yn−1, yn|xn−1, xn)/p(yn−1|xn−1)

Ñ�È�É�Î
n ∈ N \{2} ³ y ÁÒÇÆÂ�>Ð2é0´

X �7	��s��=��31��<��	%0�1�	��
	����3�������3&<�3&
�����
p(vn+1|vn, y)

	����
	��p*E���3./&<�7���
	��
p(vn, vn+1|y)

�
p(vn|y)

�������
�����
��1��8��V��
	�� X

�ZÛ(� z�d4|'}~d4c%wA`Swmt�n�cûc!n�cie7�Ju�dHkAo�t�e7�4dàf!d4e t�}~`%|�d4e c!n�c��:e�wm`Swmt�n�cJc!`�t3kTd4e
����������	��3��	���	����3&
���?������1��p����*\57�����������
	�����=��31��<����������V���	��21���	��E�������3&

�=��������p�
	S*+�#
�)��
	%�bCD�p©

�SXx��9:	����
	��p��=��31��<�������p��V���	���1��b	����������3&

�=������2�b�
	U*+�#
�)��
	'�bC��b�p©��bX X Z[��1���*+�����3�������p����	Æ��&
�3��	�����	

�	��3&<�317���3&
�����'5T��1����
	���0�1�	��<�
	��8�M����1�9:	��<�
	P*+=��3-���
�	!��*+=��<&
����	J
�	�*E����&
)���	!�3&<./��&µ¶7�����3&<9:	P�
	�����=��31��í©
�������M��V���	��21��\
������!�
	������M���8�����3&
0�1�	 X Z[��1��!5���=���	��2�������\
�	�1��¿��=��3&
	��!
 ��	Æ��5T=��3&<*+	��2�����3&
����� X �������
�8�J5���	�*\&
)���	/��1���	P�bCD�p©��SXp�����6�3�����3&
�����7��&<��	�	��3�U�3&<*P1��
=�	 X �������S�8�M
�	�1���&
)�*+	/������1��U�������3&

�=��������
�
	�5�����V��
)�*+	M
�	P�8�E��	�./*+	��������3&
���«
 � &<*E��.:	 X ;'��	�&<*E��.:	!�����¦�3�����3&
�����7��&<��	M	��3�'��	�./*+	�����=�	!57���'�
	��
*+=��3-��#
�	��b���8�����3&
021�	[	��S=�9�&

�	����3&
	��<�
	/������	�����	�*PV��
	�V�&

�&<*+	����3&
������	��?
�	��b5�&í��	��
�S=������2�S�3������� ^Ù���3*+=[	��
	�����	�*JV��
	�*+������©Y
�&<*+	�����&
������	���9�&8�'1��!57��������1����4
�	S %&<�<VT	��3�xGx	������ X ªx&<�7���
	�*+	��2��������1��H5���=���	��2�������
�
	��U��=��31��<�������%
�	���	�./*+	��2�����3&
���¦��V���	��21��'5A��1��U1���	�&<*E��.:	���=�	��<�
	 X

��Ý��tÝ�Ü �?��æKS�ètî�åqátî Þ æ ë
TIßU! þCæ þV��âAîjåqè�ß,è åEç#æGç"ä�ßIèìè�æMä�ë�î�å
Z[��1��%�������3&

�=��������[1���	M�bCD�p©��SX

Z
�7��9:	��

Ω = {1, 2} 	�� N = 1024
	��'�
	��%�3����&
�'*E���3�3&
��	���
�	

�3�������3&<�3&
��� ��1�&<9�������	��

{ �



M1 =

[
0.98 0.02

0.02 0.98

]
,M2 =

[
0.60 0.40

0.40 0.60

]
,M3 =

[
0.51 0.49

0.49 0.51

] a `AX `AX�W c
�,�E�bC

X
	����U�������3�����3&
�����7��&<��	J
�	��8�M*E����&
)���	P��1�&<9�������	 X �4�������'
�������=P
�	�1��W*E���3�3&
��	��'
�	��3������©

�3&<�3&
�����
M1

	��
M2

��	�����5T��1��
s = 1, 2, . . .

�
X i = (X(i−1)s+1, X(i−1)s+2, . . . , Xis)

�7�8�\��-7��&<��	P�����
�3�����3&
�����7��&<��	

X = (X1, . . . , XN )
9:=��3&µ¶7	P���
�����PB

W#X �,�\�
��&?
�	
X1

	��3�
(0.5, 0.5)

� X
M1

	��3�U�8�!*E���3�3&
��	P
�	��3��������&<�3&
��� 5T��1��
X2, X4, . . .

	��
\CX
M2

	��3�U�8�!*E���3�3&
��	P
�	��3��������&<�3&
����
������
X3, X5, . . .

;%��	¦��=����<&
�����3&
���
X = x

	��3���3&<*P1��
=�	«	��
Y = y

	�����=���-7���2�3&<�<�
������=�	æ5A��1�������1��
n ∈ N 57���

����5�5A���3�Y~
p(yn|xn)

�T��Å
p(yn|xn = 1)

	��3�[.2��1����3&
	�����	M��9:	��!1���	!*+��(:	�����	
0
	��[1���	J9/���3&8������	

1
�

	��
p(yn|xn = 2)

	��3�'.2��1����3&
	�����	M��9:	��J1���	�*+��(:	�����	
2
	��'1���	P9����3&8������	

1
X �8�\��=����<&
�Ò���3&
���

X = x	��3�%���
������	��3�3&<*+=�	�57���%C�GpC ~M57���3�3&<�'
�	
Y = y


�	��3����&
�U*E����&
)���	��[
�&µ�T=���	�����	��PB
W#X �,� 5���	�*\&
)���	W��	�./*+	��������3&
���à	��3�J��V���	���1�	W	��¿1��3&<�<&
�������M�
	��J57������*+)��3��	��M��=�	��
�M
�	��8� ��-7�'}
��	
�����+�3�����3&
�����7��&<��	 X XY����� ��./&<�4
 � 1��\��=��31��<�����p
�	b��=)^Ù=���	�����	U021�&�
�������	S�
	b����1��\
 ��	��3��	�1���*\&<��&<*E���
τMPM
min

X
� X �,��
�	�1���&
)�*+	J��	�./*+	��������3&
���«	��3�'��V���	���1�	!	���1��3&<�<&
�����2���
	��'57������*+)��3��	���	��3�3&<*+=��%57���[��� ���<.:��©
�3&<�3-�*+	���C 	�����������&

�=������2��0�1�	

(X,Y )
	��3�b1���	��bC«�p©��SX�aá�8�!��-7�'}
��	�������-�=�	�	��3�S�31�5�5A�/��=�	

�3�����3&
�����7��&<��	Ec X �?	�����1��W
 ��	��3��	�1��'	��3�U������=
τMPM
HMC−EM

X
\CX �,�+�3����&
�3&
)�*+	P��	�./*+	��2�����3&
���D	��3�'��V���	���1�	J	��61��3&<�<&
�Ò���2�[�
	���57������*+)��3��	���	��3�3&<*+=���~\57���3�3&<�[
�	
��� ���<.:���3&<�3-�*+	���C 	��¢�������3&

�=������2�\0�1�	

(X,Y )
	��3�J1���	s�bC¦���p©��SX X �?	�����1��æ
 ��	��3��	�1��!	����

������=
τMPM
HEMC−DS

aÄ�?	!�bC����p©��SXY©Y��C 	��3�U&<��&<�3&8���<&
��=�57���%�
	��U��=��31��<�������%
�	P�bC«�p©Y��C�c X
Z'��1��p5���=���	��2�������b
�	�1��E��=��3&
	���
�	���=��31��<�������'B2�,��5���	�*\&
)���	/�������3��	��35T����
����2��~

M2
	��3�p
�������=�	[
������

�
	%����V��
	���1 `AX�W aá.2��1���-�	EcS	��b�8�J
�	�1���&
)�*+	������3��	��35T����
����2��~P�8�J*k·�*+	
M1

	��
M3

~P�8�P5��8����	�
�	
M2

�
	��3��
�������=�	!
������[�
	J����V��
	���1 `AX�W aÄ
�����&<��	Ec X �!� ��5���)�����	��[��=��31��<�������@�7����1��[9:��(:�����P021�	

τMPM
HEMC−EM	��3�p����1��3��1����b&<�C^Ä=��3&
	�1���~

τMPM
HMC−EM

	����25A��1��S0�1�	�5T��1��b��	��3����&<���
s
�2�
	%.2��&<�s5T	�1��ì·��3��	'&<*\5A���3������� X

��Ý���Ý�ó ��ùØæ õ�îbè�ß,è åEç#æGç"ä�ßIèìè�æMä�ë�îÇítëUútä0ç#âAî
��� &<*E��.:	

128 × 128

�	\�8�Æ¶�./1���	 `AX `AX�W 	��3��V��31�&<��=�	E57���P1��¿V��31�&<�P.2��1����3&
	��æ&<��
�=�5A	���
������M
�	

9����3&8������	
1
	��+
�	6*+��(:	�����	��

0
	��

2
X �p��	�����	�*PV��
	�V�&í©Y
�&<*+	����3&
������	��'
�	�5�&í��	��
�+	��3�+������9:	��3�3&���9#&8�

1��657��������1����%
�	P %&<�<VT	��3�¥©YG>	��������A	��61�� 	�����	�*PV��
	J*+������©Y
�&<*+	����3&
������	��
1, 2, . . . , N = 128 × 128

X
�?	��J��=��31��<�������!5���=���	��2��=��M�31��J�8�Æ¶�./1���	 `AX `AX �W*+�����3��	��2�+0�1�	+�8����	�./*+	��2�����3&
��� C¦G�C ^Ä����
�=�	s�31��
�
	���57������*+)��3��	��!	��3�3&<*+=���57���\�bCD�p©Y�pC aÄ�Ec[��	+5T	��3*+	��P57���J
�	\�3����1�9:	��J�
	��J
�=�����&<�
�P
�	��!��&<�
	��J	��

�	M�8��021�	�1�	\
�	M������&
��	���1?�?
��Ç~s1��«�3����5�^Ä���3������1��«
�	M��=�./1��8���3&
�����3&
���æ��57���3&8���
	 X  �1������ &<*E��.:	qaáVjcÆ�
����1��+��9:�����M��	�5���=���	�����=W�8��9����
	�1��\
�	 {1 − p(un = Ω|y)}n∈N

021�	s����1��+��5�5T	��
	��������\����	)ÀE��&
	����

{TW



s τMPM
min τMPM

CMC−EM τMPM
CMEC−EM� {TX]| W#W#X � W#W#X �

` {TX]| W#W#X]\ W#W#X�W
| |CX � W � X � W#W#X]\
W � |CX�W W � X3{ W � X]|
\ � |CX]\ Wp`AX3{ W � X `
� ` |CX3{ Wp`AX3{ eCX]e
W � | |CX ` W � X ` eCX `
�/�/� |CX � W � X � |CX3{
� W � |CX � WE{TX � |CX3{

s τMPM
min τMPM

CMC−EM τMPM
CMEC−EM� |CX�W W
\CX]\ W
\CX]\

` |CX � W
\CX]\ W � X3{
| |CX � Wp`AX]\ W#W#X]|
W � |CX]| W � X]e W#W#X]\
\ � |CX � W
eCX�W W#W#X�W
� ` |CX � �/� X � eCX3{
W � | |CX3{ �/� X � eCX �
�/�/� |CX3{ �/� X]e eCX �
� W � |CX � �/� X]| |CX]|

Q��4�4� `AX�W õ Fg.2��1���-�	MB#">��1���
 ��	��3��	�1����U�����3��	���5A����
�������~
M1

�
M2

	��S
�&µ�T=���	�����	��S9����
	�1����S
�	
s
X F


�����&<��	+B�"x��1��W
 ��	��3��	�1��[�����3��	��35T����
����2�/~
M1

�
M3

	���
�&µ�T=���	�����	��%9/���
	�1�����
�	
s

X
�bC«�p©��SX

N(0, 1) N(2, 1)

p(ω1)
� X � |

µ
© � X �/� W#X �/�

p(ω2)
� X3{ �

σ
W#X � W � X � {

p(x1, x2) ω1 ω2

ω1
� X � { � X �/�

ω2
� X �/� � X3{TW

GH������*+)��3��	��'
�	��8�+�bCD�p©��SXb	��3�3&<*+=���57������C
�bC¦���p©��SX

N(0, 1) N(2, 1)

m({ω1})
� X �/�

µ
© � X �/� � X � |

m({ω2})
� X3{TW

σ
� X]e � W#X � W

m({ω1, ω2})
� X �/�

m(u1, u2) {ω1} {ω2} {ω1, ω2}
{ω1}

� X �/� � X �/� � X �/�
{ω2}

� X �/� � X3{ � � X �/�
{ω1ω2}

� X �/� � X �/� � X �/�
GH������*+)��3��	��'
�	��8�+�bC¦���p©��SXS	��3�3&<*+=���57�����pC

Q��4�4� `AX � õ Gx������*+)��3��	���	����3&<*+=��%��V���	��21��'57���'�pC 
��������
	������'
�	��[�bC«�p©��bXU	��'
�	��[�bC¦���p©��SX X
�?	���
�	�����&<��=���.2��1����3&
	�����	�����=�	��<�
	��%������� N (0, 1)

	�� N (2, 1)
X


 � �'�?��&<V��<&
����	�*+	��2�6ÌEÑ�È�ÇÆÂYÁÆÎÆÃÄÈ/ÎÒÃ�	��!021�&S	��3�P1���	�*E����&
)���	���5�5�������-�=�	s
�	�9#&
�317���<&
��	��!�
	E���#	)ÀE��&
	��2�

 � �'�?��&<V��<&
����	�*+	��2�+	��±^Ù�������3&
���à
�	��_º�����	��\
�	���� &<*E��.:	�� X $'� �������3������	�021�	s5T��1��J�
	��®º�����	��\����*M©
5���	��7���2��
�	���
�=�����&<�
�@� ��	��<1�&í©Y��&4��	���
�9:	����

0
X �?	!��=��31��<������
�	!�8�s��	�./*+	��������3&
���¿C¦G�CrV7����=�	M�31����
	

*+�#
�)��
	E�bC����p©��SX'��	�5���=���	��2��=E�31������ &<*E��.:	qaÄ
�c'*+���2�3��	+V�&
	��«��� ��*+=��<&
�������3&
���¿��V���	��21�	 X �?	���	��3�3&í©
*+=��!
�	��J
�&µ� =���	��2���M57������*+)��3��	��M	��å�������3&

�=������2�M�
	�*+��
�)��
	W�bCD�{5�1�&
�!�
	+*+�#
�)��
	��bC¦��� �����2�
5���=���	�����=��\�31��J�
	s����V��
	���1 `AX � X Z'��1��!5T��1�9:�����M9:��&<�\021�	W�bC��b�p©YX Z%©Y��C 	����!5��<1��M	)ÀE������	W
������
����	��3�3&<*E���3&
��� 
�	��S57������*+)��3��	��[
�1WV��31�&<� X ;'� ��1��3��	�5A��&<���%	��3�S�
	/^Ù��&<��0�1�	P�bC¦���p©��SX�©Y��C ���3�3�3&<V�1�	
1���	+5�����V7��V�&<�<&<��=s
�	E� X �/�m~ {ω1, ω2} × {ω1, ω2}

�,��	�021�&�5T	�1��_·��3��	E9�1?�,����*\*+	E1���	E*+	��31���	E
�	
�����¦��
���5�����V�&<�<&<��=M
�	P�8���bC«�g�3�����3&
�����7��&<��	M��1�� 
�������=�	�� X ���q^���&<�����
������0�1�	��
	��'
�������=�	���������-�=�	��
�����29#&
	�����	��2�¼~[1���	U�bC«�p©��SXÒ�2�bC¦���p©��SXY©Y��C�
�������	U��	S
�	��3��&
	���*+�#
�)��
	S	��p��&<���3&����
	��H5�����V7��V�&<�<&<��=��
���3�3�3&<V�1�=�	���~ {ω1} × {ω1, ω2}

� {ω2} × {ω1, ω2}
	�� {ω1, ω2} × {ω1, ω2}

��	���
�	��2�%9:	����¿º�	���� X

{ �



������� `AX `AX�W õ X *E��.:	�V�&<�7��&<��	�Z���º����
��Ý���Ý�÷ ��ùØæ õ�î ë"âAîjã�ã�î

Z[��1��M��=�	)�T	����31������E�8�¦*k·�*+	6	Æ�#5T=��3&<*+	��2�����3&
��� ~¦57���3�3&<�+
 � 1���	W&<*E��.:	W��=�	��<�
	 X �,	��\��=��31��<�������
�����2�S5���=���	�����=����31��b�8�Z¶�./1���	 `AX `AX]\CX X � 	��3�S
�&µÀE��&<�
	/��	��6��V���	�����	�
�	'�8�J9:=��3&<��=[��	��3����&<�?��
�	�����*\57����	��
0217�����3&<�����3&<9:	�*+	��2�H�
	��?��=���1��<�������>��V���	���1�� X �b	�5T	���
����2������	��3����&<���x
�=�����&<�
�>��	�*JV��
	��2�x*\&
	�1�����������	��39:=��
57���E�8�æ����1�9:	��<�
	 *+=��3-��#
�	 X Z'���������s0�1?� 1���	Ã^���&����_5��<1��s�3&<.:��1���	�1���	¦
�	�����*\57����	��s�
	��s��=��31��<�������
��	�����&<�+
�	W�����
��1��
	��E�
	?�SX3�û����*\*+	 ��1à��-7��5�&<�3��	 5���=���=�
�	��2� X Gx���s��&<�<�
	�1������4�8�D�����3��	6
�	��\9/���
	�1����

�1g����	)ÀE��&
	�����
 � �'�?��&<V��<&
����	�*+	��2�¢Ì�Ñ�È�Ç�ÂYÁÆÎÒÃÙÈ�ÎÆÃ���	�*JV��
	¤����*\57���3&<V��
	æ��9:	��D�
	��?º�����	��6
�&µÀE��&<�
	��q~
��	�./*+	��2��	�� X

�ZÛ0¡ ]_n�c ¬ v��!e7t�n%c
;'��	\
�	��P��5�5��<&
�����3&
�����J
�	M�8�W�3-�=����3&
	+
�	���������(2������	��!�������3&
�3��	�~s&<�2�3���#
�1�&<��	E
�	��¸^Ù�������3&
�����P
�	

*E������	[
������U
�	��S*+��
�)��
	��S5�����V7��V�&<�<&
����	��U�
������0�1�	[��	��U
�	��3��&
	����S��	��������U57���U�������21��%��9:	����31CÀE����*M©
*+	��2��
�	!5���=���&
�3&
��� X ;'��	!��	��<�
	M�3&<�317���3&
���æ��	J5�����
�1�&<��57����	Æ��	�*\5��
	M�
������0�1�	!�8�E�
��&%Ì!ÑmÎÒÃÙÈ�ÎÆÃ%
 � 1���	
��-7�'}
��	s
�	+CD���3�:��9¤������-�=�	��?��	��3�J57���P�3�����3&
�����7��&<��	 % 	��¿	)� 	����?1���	E��	��<�
	+�
��&p5T	�1��Z·��3��	�
�&µÀE��&<�
	S~
	��3�3&<*+	�����9:	���5���=���&
�3&
��� X �4�E��	�*\5��8��&��������8���
��&xÌUÑAÎÒÃÙÈ�ÎÆÃ>57����1���	�*E������	�=�9#&

�	��2�3&
	��<�
	'*E���3�:��9#&
	�����	
a��bC��¼cÆ������1��6��9:�����W*+���2�3��=«0�1?� &<��	��3�s5A�/����&<V��
	¦
�	¦.:=���	����S
�	¦*E����&
)���	«	��2�3&
)���	�*+	����¦��1�����*E�ì©
�3&
021�	/�m
�	[^Ù���3��	��[�������3�����3&
�����7���3&<��=���
�1¦5����#��	����31��[������-�= X �,�E����1�9:	��<�
	J*+=��3-��#
�	J5�����5A�/��=�	!
������
��	���-7��5�&<�3��	�5T	��3*+	���
 ����V���	���&<��1���	���	�./*+	��������3&
���65��<1��y¶���	�	��6��
���5������2����1�����*E���3&
021�	�*+	������7�31��
��-7��0�1�	��3&<��	/�2��� �'�?��&<V��<&
����	�*+	���� X �4�s57���3�3&
��1��<&
	�������������5�5��<&
�����3&
���Ã~P�8�!��	�./*+	��2�����3&
���W�������31�5T	��39�&í©
��=�	�
 � &<*E��.:	���5A	��3*+	��S
�	U��	��3����1�9:	��S
�	���
�=�����&<�
�t¶������25A	���
�1��p�
������
�	��p�3����&<��	�*+	��2���S���8�����3&
0�1�	�� X GH���

{�\



| $¢} | !~}

| �`} | 2�}
������� `AX `AX � õ  #	�./*+	��������3&
���6�����W�31�5A	��39#&
��=�	��S��V���	��21�	��%	��s1��3&<�<&
�Ò���2�U�
	��U��-7�'}
��	��%���8�����3&
0�1�	��b	��S�
	����-7�'}
��	��x=�9#&

�	��2�3&
	��<�
	�� X aÙ�"cTX *E��.:	�V��31�&<��=�	�57���>
�	�1���.2��1����3&
	�����	�� N (0, 1)

	�� N (2, 1)
X aáVjcA9/���
	�1��>
�1

���#	)ÀE��&
	��2�U
 � �'� ��&<V��<&
����	�*+	��2�PÌ'Ñ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ X aÄ�Ecp��	�./*+	��2�����3&
��� �����s�31�5T	��39#&
��=�	��bC«�p©Y��C ©YC�GpC¿�
����1��E
 ��	��3��	�1�����B Wp` � � `V�SX aÄ
�c���	�./*+	��2�����3&
���������s��1�5A	��39#&
��=�	��bC����p©Y�pC6©YC¦G�C¢������1��E
 ��	��3��	�1�����B
��� �/� �

{'`



| $¢} | !~}

| �`} | 2�}
������� `AX `AX]\ õ XY*E��.:	���=�	��<�
	�	��J��=��31��<�������\
�	��8����	�./*+	��2�����3&
���ý~��3����&
�M���8������	��!	�� �������3&

�=������2�\�
	
*+��
�)��
	��bC«�p©��SXÒ�#5T��1��b�
	[*+�#
�)��
	��bC����p©��SX X aÙ�"cbXY*E��.:	[��=�	��<�
	/�MaáVjc ¨ ���
	�1��U
�1����#	)ÀE��&
	��2�'
 � �'^Ô©^Ù��&<V��<&
����	�*+	��2��������
�&<�3&
������	��<�
	�*+	��2�J��1�� ��V���	��39����3&
�������=aÄ�Ec[ #	�./*+	��2�����3&
���«�����D�31�5A	��39#&
��=�	M�bCD�p©
��C ©YC�G�C¢��aÄ
�c� #	�./*+	��������3&
��������� ��1�5A	��39#&
��=�	P�bC¦���p©Y��C ©YC�G�C X

{ �



����5�5T���3�!��1æ*+�#
�)��
	s�bC
M
©YZ� ��p©��SX�5���=���	��2��=���1å��-7��5�&<�3��	�5���=���=�
�	��2���x��� ��5�5�������-�	�	����P�3��)��!
�&µ^Ô©

^Ù=���	��2��	 X �������%�
	�5���	�*\&
	��'�������7�����������3&

�)���	J
�&µ�T=���	�����	���º�����	��'
�	P�3�����3&
�����7���3&<��=��[�����3��	��35T����
����2�
��-7����1���	¸~P1���=������U��1��#&<�<&8��&<��	 X �������p�
	%*+��
�)��
	��bC��b�p©��bXÆ����� &<�C��1�	�����	[
�	%�8���
��&4Ì%ÑmÎÆÃÄÈ�ÎÆÃ4	���
������

�	���� &<�C^Ù���3*E���3&
��� �����2��	Æ���31�	��<�
	P	��3�%�'�?��&<V��<&
	�57���U����5�5T���3��~!��� &<�C^Ä���3*E���3&
����&
���31�	�
�	��U��V���	��39/���3&
�����

������H�
	��=º�����	��45���=���	��������2�b
�	��4
�=�����&<�
�=¶���� X F'&<���3&���
���������	��=º�����	������
	��H��=��31��<��������
�	U��	�./*+	��2�����3&
���
�������P��	�*PV��8��V��
	���~W��	�1��¤��V���	���1��J	��¿1��3&<�<&
�����2�J1���	+*+=��3-��#
�	E
�	+��	�./*+	��������3&
���à��9:	�1�./�
	dÖ X �������
» W � e'½ ����� ��1���	�1�����9/��&<��57���[��&<�<�
	�1����%*+���2�3��=!021�	�5A��1��%
�	��%&<*E��.:	���5���=���	��������2��
�	���
�=�����&<�
��¶��������
	��
*+=��3-��#
�	���
�	���	�./*+	��2�����3&
���¦��9:	�1�./�
	��%
������7��&
	����'
�	�*+	�&<�<�
	�1����U��=���1��<��������021�	��
	��S*+=��3-��#
�	��U*E���¥©
�:��9#&
	�����	��H������-�=�	�� X �?	�*+�#
�)��
	U�bC¦���p©��SX 5T	��3*+	��x
������b
 � ��
���5���	��p��1�����*E���3&
0�1�	�*+	��2�4��� &<�C��1�	�����	

�	���� &<�C^Ù���3*E���3&
���������2��	Æ���31�	��<�
	P	��Ã^Ä�������3&
��� 
�	��%������������=��3&
�3�3&
021�	��'
�	���� &<*E��.:	 X

× ��4 �)4�$<;)� &¼bY13�=2'&/�ü()-da��0/ca��O�'� -/� (�-�.0�32'1���$�-daI&�-/��(
265�1]�=*#()&E�f13��e
&'��1�13�ü.
(Zn)n∈N

.0()-da��]-�2E1 *#� -�2�$�-da�� . 4

{ �



É ÊÌËbÍfÎTÏZÐ¯Ñ Ø

Ù · 7 ·æ´ ¾ ; ´ 6 ·Ú¨Õ¤�ª ¸ 6 ¸ ¥ Ô ¾ Û ¤ ³ ¾

µ ³ 9 ¼¿¹4¾ ® ´¶¸×¼¤· 6 ³+Ü

Z[��1�����9:�����W�������3&

�=���=���1���021?�]~æ5���=���	��2�W1���&
0�1�	�*+	��2�6
�	��s*+�#
�=��<&
�����3&
������*+�����#
�&<*+	����3&
����©
��	��<�
	���
�	 �8�«�
��&[
�	

Z
X Z[��1��+5�����5T�/��������
������s��	 ��-7��5�&<�3��	D
 ��=���	���
���	���	���*+��
�)��
	�����1 �����s
�	

�3&<./�7��1��6*P1��<�3&<��=������<1��3&
����� X �M� ��1��3��	P57���3���m����1��%����1��[&<����=���	����������Y~\�8�E��	�./*+	��2�����3&
���¤�3�����3&
���3&
021�	
�7��1�	/�7V�&
	��«��
���5���=�	\��1���������������=��3&
�3�3&
0�1�	���
�	P��� &<*E��.:	��3&
	\���3�3��������*\&
0�1�	 X �4�¦	)� 	����m�
	��%*+=��3-��#
�	��

�	���	�./*+	��2�����3&
���E�3�����3&
���3&
021�	ì�7��1�	b��	�5���=���	��2��	�����1���	U���<��	��3�7���3&<9:	���1��P��	���-���&
0�1�	������8������&
021�	��H
������
�
	P������
 � &<*E��.:	��������2��	��7������
�	��'�3�3�31����31���	���
�&µ�T1���	�� X �?	��[5�&í��	��
�'(6�����2�[&<��
�	Æ��=�����1�*+��(:	��«
 ��	���©
��	�*PV��
	��M
�&
������	����?aÄ���8������	��P�3-�=�*E���3&
0�1�	��!-���*+��.:)���	���cJ	��Ò����1å�������3&<�21��Ãaá��=�./&
�����!&<�2��	��3*+=�
�&8��&<��	��)c X
�b	[�Y(#5A	�
�	����8�����3&µ¶7�����3&
���?�T^Ù����
�=�	��31��S�8�P�3-�=����3&
	�
�	��U	�����	�*PV��
	��¼�7��1��Y» W � Wp½ �U^���&<�S�����3��	���5A����
���	[~
��-7��0�1�	�5�&í��	��?����� 
�	�./��=�
 � ��5�57���3��	��7������	M��1��s��=�./&
�����%�3-�=�*E���3&
021�	�� X �b	��3��	P��5�5����#��-�	�5T	��3*+	��%
�	
*+��
�=��<&
��	������ &<*\5���=���&
�3&
���¿
�	���
�������=�	��J������-�=�	����>	������ &<����	��3�3&<�31�
�	E�31����8�6���8�����3&µ¶7�����3&
���æ
�	���5�&í��	��
�
» Wp`�½�X �,�W��	�./*+	��������3&
���n�7��1�	+��^���&<�P��5�5A	��t~�
�	�����	���-���&
0�1�	��Y^Ù����
�=�	����31����
	�����-7��*\5��d» �/��� W � |�½ �
5�1�&
����=���	�*\*+	��2�M�31����
	��P��-7�'}
��	��!
�	+C¦���3�:�@9v» \�` �,� `�½�X �?	��P&<*E��.:	��J���3�3��������*\&
0�1�	��P=��������P.:=���=Æ©
�����
	�*+	��2�M
�	+�7���31���	E*P1��<�3&<��=������<1��3&
��� 	��P*J1��<�3&
�35T	����3�����
	/�>����1��P5�����5A�/�������J
������!��	+��-7��5�&<�3��	s1��
*+��
�)��
	s
 � ���3V���	��\
�	sC¦���3�:�@9¿������-�=��®�7��1��!*J1��<�3&
�35A	����3����1�� X F'&<���3&��?����1��M�3����&<�������M
�	��M
�������=�	��
����1������ -�(�5T���3-�)���	J
�	P�����3��=��8���3&
���«�35T	����3�����
	P	��2�3��	P�
	��%V7����
�	��[��	��
�����
	�*+�#
�)��
	P
�=)¶���&>
������®» W � {'½�X
�?	��U57������*+)��3��	��®aá�
��&
��
 � ���3������-�	�����1���
�������=�	��%�31�5�5A�/��=�	��U.2��1����3&
	�����	���	��U57������*+)��3��	��[
�	��8�M
�&
�¥©
�3�3&<V�1��3&
���ºÌ�ÑmÎÆÃÄÈ�ÎÆÃ cP�������M	����3&<*+=��M��1å*+�@(:	��å
�	s��� ���<.:���3&<�3-�*+	W��C X ����=�����5A	W
�	s
�=���&
�3&
��� ¶��7���
	
*+	���	��\�3	�1W�
	����3&<��)���	�C¦G�C » { � ½ ��
���5���=P��1 �����2��	Æ����	�
�1?�7��1 X

Z[��1��!=���	���
������\
������M1��å5���	�*\&
	��M��	�*\5��M�
	��M*+�#
�)��
	��J*+�����#
�&<*+	����3&
������	��
��
�	E�8���
��&U
�	
Z��1W�����b
�	��3&<./�7��1��s*P1��<�3&<��=������<1��3&
����� X Z'��1��b5���=���	����������U��� ���<.:���3&<�3-�*+	�
�	������
��1�� 
�	��S*E���3./&<�7���
	��PÌ

Ñ�È�Ç�ÂYÁÆÎÒÃÙÈ�ÎÆÃU�������¿^���&<��	P
 � -�(�5T���3-�)���	���
 � &<��
�=�5T	���
�������	!������
�&<�3&
������	��<�
	 X G�1�&
��������1��[
������������[�8�+�
��&

�	

Z
5T��1��[�
	���*+�#
�)��
	���
 � ���3V���	���
�	\CD���3�:��9¦������-�=d~�V��31�&<��&<��
�=�5T	���
����2��aÄF[CD�p©��SX%cÆ�T
 � ���3V���	��


�	�CD���3�:��9E����1�5��
	��¸aÄF'C«�b��1�5��
	EcÆ�2
 � ���3V���	��b����1�5��
	��b57���3�3&
	��<�
	�*+	��2�U
�	�CD���3�:��9maÄF%�bGpC�c�	��p����1��
5���=���	��2�������%��� ���<.:���3&<�3-�*+	P��C 
������U�
	������%F'C«�p©��SX X �4�C¶��?������1���5�����5T�/�������U�
	�*+�#
�)��
	�
 � ���3V���	��

�	PCD���3�:��96������-�=��¿�7��1��'*P1��<�3&
�35T	����3����1���	��'����1��%��� ��5�5��<&
0�1������/~+�8�+��	�./*+	��������3&
���«
 � 1���	�&<*E��.:	

{#{




�	��3(#�2�3-�)���	P	���
 � 1���	�&<*E��.:	P���3�3��������*\&
0�1�	�*J1��<�3&<V7����
�	 X

¡¸Û�Ú � ��wmd4c!e7t�n�c!eºf!d4eº}~n�f_­4v�d4e÷}~n%cJn�f!t�}~d4c!e7t�n�c!c!d4v�eg`�� ¬ `�eº} �!v¥wmt0�
kA�4emn�v��Pwmt�n�c

Z[��1��J=���	���
������M�
	��!*+�#
�)��
	��!5���=���	��2��=��\
������!�
	s��-7��5�&<�3��	W� 	�� \ ~ 
�	��!*+�#
�)��
	��J*J1��<�3&<��=�����©
�<1��3&
����� X Z[��1��!��1�&<9:�����M5A��1��\��	��8��1���	�
�=�*E������-�	�&

�	��2�3&
0�1�	Ã~¦��	��<�
	��31�&<9�&
	�
������M�
	s��-7��5�&<�3��	 � X
Z[��1��%
�������������
������%1���5���	�*\&
	��'��	�*\5��'�8�¯^Ù���3*+	Z^Ù���������3&
��=�	J
 � 1��¦��&<./�7���,*P1��<�3&<��=������<1��3&
��� X Gx��1��
��	��8���m����1��[
�	�9:�����[&<���3����
�1�&<��	+��1¦5���=����8��V��
	M021�	��
0�1�	��[���������3&
��������	��8���3&<9:	�����1��¦�3�3�31����31���	������3VA��©
��	�����	�����	�� X  #��&<� S 1��¦	�����	�*JV��
	[¶���&H
 � &<��
�&
��	���	�� S1, . . . ,SN 1���	P57���3�3&<�3&
���D
�	 S X Z[��1��%5T�/�������
S = |S| 	��W5T��1�� 1 ≤ n ≤ N

�S����1��6�31�5�5T�/�������W021�	
S1 = 1 ≤ S2 ≤ · · · ≤ SN

X Gx��1��
1 ≤ n ≤ N − 1

�H����1��E�������#��&
�����k~D��-7��0�1�	
s ∈ Sn 1��à����1��\	�����	�*PV��
	 s+ 
�	 Sn+1 �4��5�5A	��
=ï 	��C^����2���b
�	

s
ð�
�	%*E����&
)���	/~P��	%0�1�	

(s+)s∈Sn

����&<�p1���	%57���3�3&<�3&
���s
�	 Sn+1 X ��� 1���&
0�1�	'=��
=�*+	����S
�	
S1 	��3�[��5�5T	��
=YïY������&<��	)ð X GH������&<�<�
	�1������

s++ 
�=��3&<./��	����E����	�����	�*JV��
	!
�	���
�	�����	���
���������
�	
s
	��[5A��1��

����1��
s ∈ S \ S1 �T�����D1���&
021�	M5T)���	M��	�����������= s− X �4�C¶��?�T����1���������	��������

s++ = {s} ∪ s++ X �,�
�
��&H
 � 1��¦�3&<./�7���x*P1��<�3&<��=������<1��3&
���

Z
5A	�1���
������/�T	�����	��7����������*\5���	!
�	!��	��'���������3&
�����@�G·��3��	!=����3&<��	


�	��8�M*E����&
)���	���1�&<9�������	
p(z) = p(z1)

N∏

n=2

∏

s∈Sn

p(zs|zS\s++)
aÙ� X�W#X�W c

Z[��1������<�
������~!5���=���	����%
�=����3&<��	���� ���<.:���3&<�3-�*+	J
�	������
��1��,
�	��U5�����V7��V�&<�<&<��=��'*E���3./&<�7���
	��JÌ�Ñ�È�Ç�ÂYÁÆÎÒÃÙÈ�ÎÆÃ

��������
	M������
�	\�3&<./�7��1���*J1��<�3&<��=������<1��3&
�����P
��������8�E�
��&4	��3��
�������=�	M57���kaÙ� X�W#X�W cÆ�T5T	��3*+	��3�����2������	��¥©
�3&<*E���3&
����
 � 1���	J��=����<&
�����3&
���¦
�1 5����#��	����31��%������-�=!��1���	����%
�1¦C�G�C X Gx��1�����	��8��������1���5����#��=�
������

 � 1���	�*E����&
)���	���&<*\&<�8��&<��	Z~\��	��<�
	��31�&<9#&
	�
������U�
	������%
�	��U*+��
�)��
	��%*+������
�&<*+	�����&
������	��
� X
Ý=Ý�Ü�Ý�Ü �Sæ ã�þrútã/átú ÞCBSÞ

����	����3&<*E����	�1��M
�1¢C�GpC¿�>	��3���?����5�5T	��
�����¥©��
	/�x��	��<1�&b0�1�&��,	��å��-7��0�1�	���&<��	
s ∈ S �,*E�ì�#&<*\&
��	��8�5�����V7��V�&<�<&<��=�*E���3./&<�7���
	�Ì\Ñ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ X X �T	����%
�������=/��57���

∀s ∈ S, (x̂s)MPM (y) = arg max
x′s∈X

p(x′s|y)
aÙ� X�W#X �"c

F�¶��¤
 ��	��3�3&<*+	��P1���	\��=����<&
�Ò���3&
���æ
�1¤5����#��	����31���������-�=���1æ��	����P
�1æC�GpC¿�T&<�p	�����
������\��=���	�������&<��	

�	!�����
��1��
	����
	���5�����V7��V�&<�<&<��=���*E���3./&<�7���
	��EÌJÑ�È�ÇÆÂYÁÆÎÆÃÄÈ/ÎÒÃ

p(xs|y)
	��«��-7��021�	M�3&<��	

s ∈ S X �,�s�
��&4
�1
5����#��	����31��

X
Ì�Ñ�È�Ç�ÂYÁÆÎÆÃÄÈ�ÎÆÃb5A	�1��¿·��3��	�=����3&<��	P����1��U1���	¸^Ù���3*+	¸^����������3&
��=�	��31�&<9/���2��	+B

p(x|y) = p(x1|y)
N∏

n=2

∏

s∈Sn

p(xs|xS\s++ , y)
aÙ� X�W#X]\ c

�b	��3��	�
�	��3��&
)���	6	��3�\
�������=�	�57���M�
	s5�����
�1�&<�+
�	s�8�¦�
��&S&<��&<�3&8���
	¤Ì�Ñ�È�Ç�ÂYÁÆÎÆÃÄÈ�ÎÆÃ
p(x1|y)

	��\
�	��M�
��&
�

�	��3��������&<�3&
���«Ì[Ñ�È�ÇÆÂYÁ�ÎÒÃÙÈ�ÎÆÃ {

p(xs|xS\s++, y)
}
s∈S\{1}

è#�������p�
	[��������Å���	��<�
	��¥©Y��&T�����2�S�������21�	��@�#���

{�|



5A	�1��x�����
��1��
	��H�
	��,5�����V7��V�&<�<&<��=��x*E���3./&<�7���
	���Ì�Ñ�È�ÇÆÂYÁÆÎÆÃÄÈ/ÎÒÃ?	��!	)�T	����317�����x1��J57��������1����4
�	�����	���
����2�4
�	
��� ���3V���	P��5�5T	��
='Ñ�Ì�Ç�Ç�Á!Ê2ÁÒÇ�ÕÒÁÆÅmÊ:Ì�ÅmÂYÁS» W � `�½�X �4� 	)� 	������������7��&
�������2�

p(x1|y)
������1���5A��1�9:�����'�����
��1��
	��

p(xs|y) =
∑

xS\s++
p(xS\s++|y) ��9:	�� p(xS\s++|y) = p(xS\s++|y)p(xs|xS\s++ , y)

5A��1��
n =

2 . . . N
	��
s ∈ Sn X �?	65�����V��
)�*+	 ��	�����*+)���	�
������ ��1à�����
��1��%
�	6��	��\5�����V7��V�&<�<&<��=�� X �4�_��	 021�&

��������	��3��	��
	������
��1��?
�	��U5�����V7��V�&<�<&<��=��'
�	��3�������3&<�3&
���¿Ì�Ñ�È�ÇÆÂYÁ�ÎÒÃÙÈ�ÎÆÃá����	��<�
	��¥©Y��&,5A	�1�9:	�����·��3��	������
��1��
=�	��

�	��8�M*E����&
)���	��31�&<9/���2��	�5A��1�������1��

n = 2 . . . N
�
s ∈ Sn B

p(xs|xS\s++, y) = p(zs|zS\s++)

∏
t∈s+ βt,s(zS\s++)

βs,s−(zS\s++)

aÙ� X�W#X ` c
��9:	��

βs,s−(zS\s++) = p(ys++|zS\s++)
�8�\0217�����3&<��=�
�&<��	\Î�é�ÂÄÎ3È�ç�Î3Ì:Ê2Á�è?�4�6	)�T	����

p(xs|xS\s++ , y) =
p(xS\s++, yS\s++, ys++)

p(xS\s++ , yS\s++, ys++)

=
p(zS\s++)

p(zS\s++)

p(ys++|zS\s++)

p(ys++ |zS\s++)

= p(zs|zS\s++)
p(ys++|zS\s++)

p(ys++|zS\s++)

= p(zs|zS\s++)

∏
t∈s+ p(yt++ |zS\s++)

p(ys++|zS\s++)

= p(zs|zS\s++)

∏
t∈s+ βt,s(zS\s++)

βs,s−(zS\s++)

βs,s−(zS\s++)
5T	�1��,	��<�
	Æ©�*k·�*+	t·��3��	4	Æ��5��3&<*+=�	�	��Y^Ù�������3&
���P
�	

p(zs|zS\s++)
	��?
�	 ∏

t∈s+ βt,s(zS\s++)
�

	��6	)�T	����

βs,s−(zS\s++) = p(ys++ |zS\s++)

=
∑

xs∈X
p(zs|zS\s++)

∏

t∈s+
p(yt++ |zS\s++)
︸ ︷︷ ︸
βt,s(zS\s++)

aÙ� X�W#X �"c

�b	��U0217�����3&<��=��U5T	�1�9:	��2�%���
������·��3��	������
��1��
=�	��S��=���1����3&<9:	�*+	����'	��W	)�T	����317�����U1��W57��������1����U*+���2�������
�31��U��� ���3V���	/����1�Ñ�Ì�Ç�Ç�Á�Ó+È�ÅmÂ�Ì�Å7ÂYÁP
�	��8�M*E����&
)���	��31�&<9/���2��	+B

βs,s−(zS\s++) ∝
{ ∑

xs∈X p(zs|zS\s++)
∑

xs∈X p(zs|zS\s++)
∏
t∈s+ βt,s(zS\s++)

�3&
n = N�3&<����� aÙ� X�W#X �"c

$'��5A	�1��x���
�����?	��P
�=�
�1�&<��	4����	�����	�*JV��
	p
�	�� 5�����V7��V�&<�<&<��=��x
�	H�3�������3&<�3&
�����bÌ4Ñ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ
p(xs|xS\s++ , y)

�
5A��1��

s ∈ Sn, n = 2 : N
~!57���3�3&<�'
�	daÙ� X�W#X ` c X X �?	��3�U��=�����*+��&<������=���	����Ò��&<��	/��
�	�*E����&
)���	��3&<*\&<�8��&<��	

��1��å��-7�'}
��	����p0�1�	W�
	��\5�����V7��V�&<�<&<��=¦
�	��\�3�������3&<�3&
����� {
p(zs|zS\s++)

}
s∈Sn,n=2:N


�1à5����#��	����31��
Z����&
	��2���������21�	�����1D�����
��1��8��V��
	�� X ªx&<�7���
	�*+	��2���A�8�+5�����V7��V�&<�<&<��=!*E���3./&<�7���
	WÌPÑ�È�Ç�ÂYÁÆÎÆÃÄÈ�ÎÆÃ�~\�8�E������&<��	

{�e



�SVPwj>�K�DP@E�,xÇl�� �S���
��1��,
�	���*E���3./&<�7���
	��[�!5T�/�3��	��3&
���3&,
������U1��¦���3V���	 XGH������	�*+���2��������	 B�5T��1��
n = N . . . 2

� ∀s ∈ Sn

βs,s−(zS\s++) ∝
{ ∑

xs∈X p(zs|zS\s++)∑
xs∈X p(zs|zS\s++)

∏
t∈s+ βt,s(zS\s++)

�3&
n = N�3&<�����

p(xs|xS\s++ , y) ∝
{
p(zs|zS\s++)

p(zs|zS\s++)
∏
t∈s+ βt,s(zS\s++)

�3&
n = N�3&<�����

�'����&<��	 B
p(x1|y) ∝ p(z1)

∏
t∈1+ βt,1(x1)

GH������	�
�	�����	���
�������	 B�5T��1��
n = 2 . . . N

� ∀s ∈ Sn
p(xS\s++|y) = p(xS\s++|y)p(xs|xS\s++ , y)
p(xs|y) =

∑
xS\s++

p(xS\s++|y)

5T	�1��¿·��3��	������
��1��
=�	Z~M57���3�3&<�%
�	
p(z1)

	���
�	�� {βt,1(z1)}t∈1+


�	��8�!*E����&
)���	P��1�&<9�������	+B

p(x1|y) ∝ p(z1)
∏

t∈1+

βt,1(z1)
aÙ� X�W#X3{ c

��� ���<.:���3&<�3-�*+	'
�	������
��1��7
�	��4*E���3./&<�7���
	��[ÌUÑ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃH	��3�4��=��31�*+=%
������4��� ���<.:���3&<�3-�*+	 {TX X ���������3&
�3��	
~\�����
��1��
	��[
�������1��65���	�*\&
	��'��	�*\5����
	���5�����V7��V�&<�<&<��=��[
�	��3�������3&<�3&
���åÌ�Ñ�È�ÇÆÂYÁ�ÎÒÃÙÈ�ÎÆÃ��
�����'
�	��8�M57������	
*+���2��������	

n = N
~
n = 2

� ∀s ∈ Sn X �,�¤5�����V7��V�&<�<&<��=¢Ì6Ñ�È�Ç�ÂYÁÆÎÆÃÄÈ�ÎÆÃ�~«�8�D������&<��	�	��3�E	����31�&<��	
�����
��1��
=�	 X $'�«5T	�1��P���
������	��¤
�=�
�1�&<��	M�
	���5�����V7��V�&<�<&<��=���*E���3./&<�7���
	���ÌMÑ�È�Ç�ÂYÁÆÎÒÃÙÈ�ÎÆÃ%�
������
�	M�8��57������	
��9/���2� X �?	��\5�����V7��V�&<�<&<��=���*E���3./&<�7���
	���ÌsÑ�È�ÇÆÂYÁÆÎÆÃÙÈ�ÎÒÃ {p(xs|y)}s∈S =������2���������21�	��������_5A	�1��+	��3�3&í©
*+	���1���	P��=����<&
�����3&
���¦
�	��%9����3&8��V��
	��'������-�=�	�����1 ��	����'
�1�C¦G�C 
����2�'����	��3�3&<*E����	�1��[	����%
�������=�57���
aÙ� X�W#X �"c X Z'���������\0�1�	s�8�¦�������7��&
����������	�
�	���	��M5�����V7��V�&<�<&<��=��\*E���3./&<�7���
	��E��&<���3&S021�	�
�	��M5�����V7��V�&í©
�<&<��=���*E���3./&<�7���
	��

p(xS\s++|y) ��	����s=�.2���
	�*+	��2�P�3��)���1��3&<�
	M5A��1�������	��3�3&<*E���3&
���æ
�	���57������*+)��3��	��P
�1*+�#
�)��
	�� X

Ý=Ý�Ü�ÝPó Þàß=átâ�ã�ä�å�æjç"ä�ßIètå?átî
Z

á�æMètå�ã�î þCæ åmáM
 úìè å�ä�õIètæ ã¸ù�úìã0ç"ä�ë�â�å�ßIã�ú�ç#ä�ßIè
�4�«5����#��=�
����2�J
�	M�8�s*k·�*+	M*E����&
)���	+021�	M
��������
	\��	�������
«��-7��5�&<�3��	/� ����1���5T��1�9:��������&<��	����
	��

*+�#
�)��
	����31�&<9/���2���%0�1�&?�������%
�	���	Æ����	����3&
������
�&<��	�����	��%
�	��%*+��
�)��
	���*+������
�&<*+	����3&
������	��
� X
Þ �,	U*+��
�)��
	'
 �ß�'Î�Í�Î3Á�Ê�Á%î¦Ì�ÎÒÞ�È�ïPÕ�Ì:Õ�Ú�é�Ï\ÍÆÎÆÉ�ÃÄÂxÃÔÅAÊ2éYÑ�ÁÆÅAÊ:Ì�Å7Â¿aÄF[CD�p©��SX%cH0�1�&7�������3&
�3��	/~/^Ù��&<��	

�
	��'-2(#5A���3-�)���	���
 � &<��
�=�5T	���
�������	\������
�&<�3&
������	��<�
	\�31�&<9/���2��	sB,» \ ��� \ ��� W ���A�/��� \ ��� \CW �T�/��� e ��� W � ` �
W � \'½

Xs ⊥⊥ XS\({s−}∪s++)|Xs−

Ys ⊥⊥ ZS\{s}|Xs

aÙ� X�W#X]| c
�,�!�
��&,
�	

Z
	��3�%���
�����'
�������=�	�57���_aÙ� X�W#X�W cU��9:	��

p(zs|zS\s++) = p(xs|xs−)p(ys|xs)
aÙ� X�W#X]e c

| �



Þ �?	S*+�#
�)��
	�
 �ß�'Î�ÍÆÎ3Á�Ê�ÁUîDÌ�Î�Þ�È�ï ú È�É�ÑAã<Á®aÄF[CD�b��1�5��
	Ecx0�1�&��������3&
�3��	�~���1�5�5A�/��	��4
�&<��	�����	�*+	����
�8�!*E���3�:��9#&8����&<��=J	��6=���-�	��<�
	P
�1W5����#��	����31��

Z
BM» e�` � |#\ � `�e'½

Zs ⊥⊥ ZS\(s−∪s++)|Zs−
aÙ� X�W#X�W �"c

�,�!�
��&,
�	
Z
	��3�%���
�����%
�������=�	�57���_aÙ� X�W#X�W cU��9:	��

p(zs|zS\s++) = p(zs|zs−)
aÙ� X�W#X�W#W c

Þ �?	P*+��
�)��
	J
 �ß�'Î�ÍÆÎ�Á ú È�É@Ñmã
Á�ÛUÌ�Î�ÂÄÃÙÁÆãáã
ÁÆÓEÁÆÅ7ÂUÊ2ÁPî¦Ì�ÎÒÞ�È�ï�aÄF%�bG�C�cU0�1�&>�������3&
����	Z~¯^���&<��	���� -2(�©
5A���3-�)���	�
 � &<��
�=�5A	���
�������	J������
�&<�3&
������	��<�
	J�31�&<9/���2��	EBM» e#|�½

Zs ⊥⊥ XS\(s−∪s++)|Zs− , YS\(s−∪s++)
aÙ� X�W#X�W �"c

�,�!�
��&,
�	
Z
	��3�%���
�����%
�������=�	�57���_aÙ� X�W#X�W cU��9:	��

p(zs|zS\s++) = p(zs|xs− , yS\s++)
aÙ� X�W#X�W
\ c

;%��	���=����<&
�����3&
����
�165����#��	����31��%������-�=J5A	�1��'���
������·��3��	�	��3�3&<*+=�	!��1 ��	�����
�1¦C�G�C 	�� ��	�*\5��8��&������
p(zs|zS\s++)

57���¯aÙ� X�W#X]e cÆ�,aÙ� X�W#X�W#W c%��1 aÙ� X�W#X�W
\ c%
���������� ���<.:���3&<�3-�*+	 {TX �M� ��1��3��	J57���3���7
�	��8�+*k·�*+	
*E����&
)���	�0�1�	�
������U�
	���-7��5�&<�3��	 \ ���
	��%F'C«�b��1�5��
	��U5T	�1�9:	��2��·��3��	�=���	���
�1��'��1��W���3V���	���
�	�CD���3�:��9
�3�3&<5��
	��'	����
	��%F%�bG�C 5A	�1�9:	�����·��3��	J=���	���
�1��'��1�� ���3V���	����3�3&<5��
	����'57���3�3&
	��<�
	�*+	��2��
�	�CD���3�:��9�» e#|�½�X
Z'��1��'���<�
������~!5���=���	����'
�=����3&<��	���� ���<.:���3&<�3-�*+	J��C 
��������
	������'
 � 1�� F'C«�p©��SXp*J1��<�3&
�35T	����3����� X �b	��
���<.:���3&<�3-�*+	s����1��!��	����61��3&<�
	s
������!�8� �31�&<��	s
�1å��-7��5�&<�3��	��
������0�1�	E����1��\��VT����
�	��������!����	��3�3&<*E���3&
���

�	���F[CD�p©��SXt�7��1��U*P1��<�3&
�35T	����3����1�� X

Ý=Ý�ÜMÝ�÷ ø�å'ç"ä�ù¾æGç#ä�ßIè�ø�Þ á�æMètåmã�îbþCæMåqáM
Pútè«E�Þ��·�d¸?�?ù�útã�ç#ä�å�é�î�þTç#ë"æMã

Z[��1��U����5�5A	��
�����'
���������	��3��	�����1��3©Y��	����3&
���6�
	�
�=�9:	��
��5�5T	�*+	��2�[5A	��3*+	��3�������'
�	��3����1�9:	��%�
	���^Ä���¥©
*P1��
	��s
�	 ��=�	����3&<*E���3&
���×
�	 ��� ���<.:���3&<�3-�*+	¦�pCj
������E�
	�������
�	��sF'C«�p©��SX!*P1��<�3&
�35T	����3����1��h» �/� ½�X
�,���
��&T�3��&<�2��	+
�1æ5�������	�����1���	��3��
�������=�	\57���

p(z|φ) =

Q

s∈S\S1 p(xs− ,xs)
Q

s∈S\(S1∪SN )
p(xs)

× ∏
s∈S p(ys|xs)

X �,�
9�����&
��	�*PV��8������	P����*\5��
=���=�	J	��3��
�������=�	�57���

Lc(φ) =
∑

s∈S\S1

log p(xs− , xs) −
∑

s∈S\(S1∪SN )

log p(xs) +
∑

s∈S
log p(ys|xs)

|CW



� @
Br��l � F�¶��6
�	��3&<*\5��<&µ¶7	����
	��U���������3&
�����@������1��U5T�/�������
∣∣∣∣∣∣∣∣∣∣∣∣

πi = p(xs = i)

cij = p(xs− = i, xs = j)

fi(ys) = p(ys|xs = i)

γ
[q]
s (i) = p(xs = i|y;φ[q])

ψ
[q]
s−,s

(i, j) = p(xs− = i, xs = j|y;φ[q])

��Å
fi(.)

	��3�H1���	b�
��&#57������*+=��3��=�	�57���x����5�5T���3��~'1���	S*+	��31���	S
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ν
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Q(φ|φ[q]) =
∑

s∈S\S1

∑

(i,j)∈X 2

ψ
[q]
s−,s

(i, j) log cij −∑
s∈S\(S1∪SN )

∑
i∈X γ

[q]
s (i) log πi

+
∑

s∈S
∑

i∈X γ
[q]
s (i) log fi(ys)
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�������
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∑

(i,j)∈X 2

cij = 1,
∑

j∈X
cij = πi

	�� ∫

l∈Y
fi(l) = 1

ªx&<�7���
	�*+	��2���7����1�����V���	����������
	��y^Ù���3*P1��
	��'
�	���=�	��3�3&<*E���3&
��� �31�&<9/���2��	��@���
	��
γs(i)

	����
	��
ψ

[q]
s−,s

(i, j)=������2�'��V���	��21��'57���U��� ���<.:���3&<�3-�*+	 { B

c
[q+1]
ij =

1

S − 1

∑

s∈S\S1

ψ
[q]
s−,s

(i, j), f
[q+1]
i (l) =

∑
s∈S:ys=l

γ
[q]
s (i)

∑
s∈S γ

[q]
s (i)
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



µ
[q+1]
i =

P

s∈S ysγ
[q]
s (i)

P

s∈S γ
[q]
s (i)

Γ
[q+1]
i =

P

s∈S γ
[q]
s (i)(ys−µ[q+1]

i )(ys−µ[q+1]
i )T

P

s∈S γ
[q]
s (i)
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Ω = {ω1, . . . , ωK} X �������S�
	������U
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ν = δ0 + δ1 + µ
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p(0) + p(1) +

∫ 1

0
p(ε)dε = 1
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X = (X)s∈S
��9:	��

Xs ∈ [0, 1]
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p(x1)
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�	��3��������&<�3&
���
p(xs|xs−)

p(x) = p(x1)

N∏

n=2

∏

s∈Sn

p(xs|xs−)
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s , . . . , y
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s , Y

(2)
s , . . . , Y
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Y = y
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p(ys|xs) =

1

(2π)D/2(detΓxs)
1/2

.e(−
1
2
(ys−µxs)T

Γ
−1
xs (ys−µxs )) aÙ� X � X ` c
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µxs = [µ
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xs , µ

(2)
xs , . . . , µ
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Xs = εs
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�1����

(µ0, µ1)
�
(Γ0,Γ1)

B
{
µεs = (1 − εs)µ0 + εsµ1

Γεs = (1 − εs)
2
Γ0 + ε2sΓ1
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n = N . . . 2
� ∀s ∈ Sn

βs,s−(zs−) ∝
{ ∫

X p(xs|xs−)p(ys|xs)dν(xs)∫
X p(xs|xs−)p(ys|xs)

∏
t∈s+ βt,s(zs)dν(xs)

�3&
n = N�3&<�����

p(xs|xs− , y) ∝
{
p(xs|xs−)p(ys|xs)
p(xs|xs−)p(ys|xs)

∏
t∈s+ βt,s(zs)

�3&
n = N�3&<�����

�'����&<��	 B
p(x1|y) ∝ p(z1)

∏
t∈1+ βt,1(x1)

GH������	�
�	�����	���
�������	 B�5T��1��
n = 2 . . . N

� ∀s ∈ Sn
p(xs, xs−|y) = p(xs− |y)p(xs|xs− , y)
p(xs|y) =

∫
X p(xs, xs− |y)dν(xs−)

Z[��1��U5A��1�9:�����'=����3&<��	_~M5���=���	��2�%�8�\�
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Z
57���%����5�5T���3��~M�8�M*+	��31���	

νS ⊗ (µS)(1) ⊗ (µS)(2) ⊗
· · · ⊗ (µS)(D) ����Å �
	�� (µS)(i)
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p(z) = p(x1)p(y1|x1)

N∏

n=2

N∏

s∈Sn

p(xs|xs−)p(ys|xs)
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